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900 | 15.600 | 14.700 900
600 | 14.700 900
X 600 | 14.700
900 | 15.600 | 14.700
900 | 15.600 | 14.700
900 | 15.600 | 14.700
900 | 15.600
FERCAE)=ALIR G FiR)| RRCRE)E 33.300
33.300
33.300
33.300
33.300
33.300
33.300
33.300
33.300 32.900
33.300 31.100
33.300
33.300
33.300
33.300
33.300
33.300

AR BT |

29.800

29.800

AR CRE) =R RRECPE)#

1
1
1
1
JENTES 3
3
3
| | 3
FRCRE) =/ M2 RERCRE) % |1 |1
00 .900 1 1
800 .900 1 [ 15. 1
800 ,900 1 [ 15.600 ,900 | 1
800 ,900 [ 1 | 15,600 ,900 | 15,800
800 ,900 [ 15,800 | 15,100 ,900 | 15,800
IVARE 800 ,900 [ 15.800 [ 15.100 ,900 | 15,800
800 ,900 | 15,800 | 15,100 ,900 | 15,800
800 ,900 | 15,800 | 15,100 ,900 | 15,800
800 ,900 | 15,800 | 15600 ,900 | 15,800
800 ,900 | 15,800 | 15600 ,900 | 15,800
,900 | 15,800 | 15600 ,900 | 15,800
EICE3 e ek 100 700 26,000 | 25,600 ,800 | 22,600
7,700 26,000 | 25,600 ,800 | 22,600
26,600 | 25,400 | 25,000 26,600 | 25.400 | 25,000 700 | 18,500
26,200 | 25,000 | 24,600 26,200 | 25,000 | 24,600 20,300 | 19,100
L: 27,700 | 26,500 | 26.100 27,200 | 26,000 | 25,600 19,200 | 18,000
FLOR (37 F %) 58 |_JL: 27,700 | 26,500 | 26.100 27,700 | 26,500 | 26,100 25,700 | 24,500
27,700 | 26,500 | 26.100 27,200 | 26,000 | 25,600 25,200 | 24,000
29,200 | 28,300 | 27.900 29,000 | 27,800 | 27.400 27,000 | 25,600

29,200 | 29,100 | 29,000 29,200 | 29,100 | 29,000 27,200 | 27,100

26,900 | 26,100 29,200 | 29,100 | 29,000 e 29,200 | 29,100 | 29,000 27,200 | 27,100 | 27,000 —
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MEEZI5121 EEXR(10A30~11 56 BB ES)

EEEMAB ;- 2016/09/06

70/30-11/2.11/4-6
- F7E
B HER
EIEIES
R (FE) =ALIR (T F )| RRCRE)F [ JL501 = Bl 50% :19.900. +:21.300.
JL503 50%
JL505 46%
JL507 40%
JL509 40% 25300, 27500
JL511 40% _|%:25.300, £:27.500.
JL513 46%
JL515 49%
JL517 52%
JL519 52%
JL521 46%
JL523 46%
JL525 46%
JL527 43%
JL529 43%
JL531 48%
FLUR (B F %) % |_JL500 44%
JL502 40%
JL504 41%
JL506 44%
JL508 52%
JL510 52%
JL512 49% 200, £:20.500
JL514 44% 200, £:20.500
JL516 43% 200, +:20.500
JL518 42% 700 £
JL520 42% 700, £:20.100
JL522 42% 700
JL524 43% 700
JL526 46% 22,600
JL528 46% 21,500
JL530 52% 21,500
R CRE) =18/ HR(CRE) % |_JL303 56% |£:22.100, +:22.800
JL305 48% |%:22.800, T:23.500. H:18.700
JL307 41% |%+:25400. H:18.700
JL309 38% | %:26.800. +:26.000. EI 19400
JL311 38%
JL313 40%
JL315 46%
JL317 55%
JL319 56%
JL321 56%
JL323 55%
JL325 52%
JL327 50%
JL329 46%
JL331 46%
JL333 46%
JL335 45%
BRI JL300 50%
JL302 46%
JL304 46%
JL306 44%
JL308 45%
JL310 49%
JL312 56%
JL314 56%
JL316 56%
JL318 49%
JL320 46%
JL322 45%
JL324 44%
JL326 44%
JL328 44%
JL330 48%
JL332 56%
FRCRE) =R FR(CRE) % |_JL551 67%
JL553 66% [
JL555 68% 15000, 14,300
JL557 64% | /K+:16.200. % H:17.300
JIIIES JL552 62% | £:16.900
JL554 67% [%:14.600. £:14.700. H:15.500
JL556 68%
JL558 68%
RERCRE) =/ M2 RRCRE) S |_JLi83 57%
JL185 46%
JL187 50%
JL189 52%
JL191 52%
JL193 5
IR JL182
JL184
JL186
JL188
JL190 49 .
JL192 49% :12,800, £:10,500
FERCRE) =R RERCRE)F | _JL231
JL233
JL237 5500, T H:11,500
JL239 500
JL241 1500
[T JL232 61% |8 500
JL234 55% |4 1500
JL236 E 1500
JL240 E 111,500
JL242 E:
RECRE) =1L hM RERCRE)$E |_JL3T1 9,500, £:18.700, F:16,400
JL373 50% | % +:21500, H:19,000
JL3T5 52%
JL377 8% |
JL379 8% |
EFIE JL370 55%
JL372 48%
JL374 54%
JL376 52%
JL378 [ 58% |4
RR(CRE)=K%9 RRCRE) % |_JL661 44%
JL663 44%
JL665 44%
JL667 45%
JL669 19% &
JL671 49% 23,600, 19,800, F123,000
RRHE JL662 52%
JL664 6% _H:21,300
JL668 45% 00,
JL670 5% 500,
JL672 42% 00,
JL674 42%
RR(RE)=-RIK RRCRE)$ |_JL605 48%
JL607 50%
JL609 55%
JL6T1 55%
JL613 57%
JL615 57% [ £:23,800, H:22.700
R JL606 57% 19,700, +:22,200, H:19.300
JL608 53% | % t:21.600
JL610 55%
JL612 47%
JL614 47% 20,500, H:24,400
JL616 51% |%:24,400, £:19,700. H:23.800




MEEZI5121 EEXR(10A30~11 56 BB ES)

EEBEAB 2016/09/06
70/30-11/2.11/4-6
X — 3MTE
| B# | g
KR () =1LE KR (FFH | JL2201 100 | 53% |
JL2203 700 | _49%
JL2205 700 | _49%
JL2207 .900 | 45%
JL2209 900 | 45% |21 :
JL2211 20500 | 41% |%:23.400. £:16.800.
JL2213 20000 | 42% |%:22.200, £:16.800.
e JL2200 16.800 51%
JL2202 18.900 | 45%
JL2204 19.300 | _44% H:19.600
JL2206 20000 | 42%
JL2208 20000 | 42%
JL2210 300 | 47% |%:22.800. T:19.500, H:22.200
JL2212 100 | 53% |2:22.200. T:16.800, H:20.500
KR (=K% KRR () % | JL2361 300 | 34% .700. H:13.800
JL2365 900 | 40% |2+ H:15.400
JL2367 400 | 33% |2:15400. H:15.700
K55 JL2362 900 | 40% |%:15400. H:14.300, £:14.900
JL2364 300 | 34% 15.700
JL2366 400 | 29% 15700, £:14.300

JAL



MFEZI5121  EEXR(11AT~228B8FESH)

EEEMAB ;- 2016/09/06

T1/7-22
- ITE
= HER
EIEIES
R (FE) =ALIR (T F )| RRCRE)F [ JL501 2 Al 50% [£:19.900, 1
JL503 50%
JL505 46%
JL507 40%
JL509 40%
JL511 40%
JL513 46% £:22.000,
JL515 49% 121,300, £
JL517 52%
JL519 52%
JL521 46%
JL523 46%
JL525 46% 20,300, £:25.600.
JL527 43% _|$:26.900. £:19.300,
JL529 43% | %:26.900. £:19.300, B:
JL531 48% 25,600, £:17.900,
FLUR (B F %) % |_JL500 44% :21.300, & X
JL502 40% |2 +:23.300. H:19.300
JL504 41% | +:22.600. H:20.300
JL506 44% | H:20.300
JL508 52% 20,600, £:21.000, H:20.900
JL510 52% 20,600, £:20.500, H:22.000
JL512 49% 23200, £:20.500
JL514 44% 23,200, £:20.500
JL516 43% | R:21.700, £
JL518 42% 00, £:20.
JL520 42% 00, £:20.100
JL522 42% 00,
JL524 43% 700,
JL526 46% 22,600, X
JL528 46% 21,500, £:17.900
JL530 52% 21,500
R (PE)=15E RRCAE)F [ _JL303 56% | A:19.800. £:22.100, £:22.800
JL305 48% |%:22.800, F:23.500, H:18.700
JL307 41% |2 +:25400. H:18.700
JL309 38% | 2::26.800. T:26.000, H:19.400
JL311 38% 26,800, £:26.000, H:19.400
JL313 40%
JL315 46%
JL317 53%
JL319 56%
JL321 56%
JL323 55%
JL325 52%
JL327 50%
JL329 46%
JL331 46%
JL333 46%
JL335 45%
BRI JL300 50%
JL302 46%
JL304 46%
JL306 44% :19.400
JL308 45% :19.400
JL310 49% 00. H:20.500
JL312 56% :22.100. H:20.500
JL314 56% . H:23.200
JL316 56% 23.200
JL318 49% 00, H:24.100
JL320 46% 00
JL322 45% |4 1300, H:26.200
JL324 44% 00
JL326 44% 00
JL328 44% 400, H:25.500
JL330 48% .400. H:24.100
JL332 56% 800
AR CRE) =R FR(CRE) % |_JL551 67%
JL553 66%
JL555 68%
JL557 63%
JIIIES JL552 62%
JL554 67%
JL556 68%
JL558 68%
RERCRE) =/ M2 RRCRE) S |_JLi83 57%
JL185 46%
JL187 50%
JL189 52%
JL191 52%
JL193 5
IR JL182
JL184
JL186
JL188
JL190 49
JL192 49%
FERCRE) =R RERCRE)F | _JL231 64%
JL233 64% |+
JL237 61%
JL239 55% |4
JL241 53%
IS JL232 61% |1
JL234 55% |2
JL236 E
JL240 E 111
JL242 4
RECRE) =1L hM RERCRE)$E |_JL3T1 . +:18.700, H:16,400
JL373 50% . B:19,000
JL3T5 52%
JL377 | _48% |
JL379 | _48% |
EFIE JL370 55%
JL372 48% :18.100
JL374 54% :19,200
JL376 52% :20,600
JL378 58% |4 :19,000
RR(CRE)=K%9 RRCRE) % |_JL661 44%
JL663 44% :23,000, B:20,400
JL665 44% : 20,
JL667 45%
JL669 19% | &
JL671 [_a9% |
RRHE JL662 52%
JL664 46%
JL668 [ _a9% |
JL670 [ _a9% |
JL672 42%
JL674 42%
RR(RE)=-RIK RRCRE)$ |_JL605 48%
JL607 50%
JL609 55%
JL6T1 | _55% |
JL613 57%
JL615 57%
RIGF JL606 57% 19,700, £:22,200, H:19,300
JL608 53% | % +:21,600
JL610 55% | 20,400, £:21,600, £:21,300. H:22.200
JL612 47% 20,500, H:24.400
JL614 47% 20,500, H:24.400
JL616 51% |£:24,400, £:19.700. H:23800




MFEZI5121  EEXR(11AT~228B8FESH)

EEEMAB ;- 2016/09/06

T1/7-22
=40 23 T 2IE
B B51% W&
R CRE)=#EX RECHE) R [ JL623 21.100 49%
JL625 21,600 | 47%
JL627 21.600 | 47%
JL629 20800 | 49% 1.400
JL631 20800 | 49% 1.400
JL633 18.300 | 55% 9.200. %:20.000, F:19.900. H:21.600
JL637 20.200 :20.800. 200
JL639 .200 00, £:18.900, H:22.200
AR JL622 .600
JL624 600
JL626 100
JL628 300 | 55%
JL630 22.200 | _46%
JL632 22.200 | 46%
JL634 22200 | 46% 22,600, +:19.700. H:23.700
JL638 9100 | 54% |%:22.600. H:22.200
KR () =1LE KB () % |_JL2201 6.100 53% 1£:20.500
JL2203 7700 | 49% |%+:21.800. H:17.600
JL2205 7700 | 49% |%+:21.800, H:20.100
JL2207 8900 | 45% [&+:21.800. H:21.100
JL2209 8900 | 45% [£:21.800, £:16.800. H:21.100
JL2211 20500 | 41% |%:23.400. £:16.800, H:22.200
JL2213 20000 | 42% |%:22.00. £:16.800, H:21.100
e s JL2200 16.800 51% [+:19.500
JL2202 18.900 | 45% [£1:19.500
JL2204 19.300 | 44% |£+:20.000. H:19.600
JL2206 20000 | 42%
JL2208 20000 | 42%
JL2210 300 | 47%
JL2212 100 | 53%
KR () =818 KBR (FFH % |_JL2241 .700 49%
JL2243 700 | 49%
JL2245 400 | 46%
JL2251 8.800 | 42%
HRR JL2240 9.100 41% :
JL2244 7400 | 46% | T:19.100, H:18.500
JL2246 400 | 50% |£:19.600. H:18.500
JL2250 400 | 50% |H:18.500, £:19.600. £:15.800
KR (=K% KBR (5D 5 [ U236t 300 | 34% |&+:15700. H:13.900
JL2365 900 | 40% |& £ H:15.400
JL2367 400 | 33% [£:15400, H:15.700
K55 JL2362 900 | 40% | H:14.300, £:15.400. £:14.900
JL2364 300 | 34% 15.700
JL2366 400 | 29% 15700, £:14.300




MEEZISI21 1 EEXR(11A24~1281BEES)

EEEMAB ;- 2016/09/06

T1/724-12/1
- TTE
= HER
EIEIES
R (FE) =ALIR (T F )| RRCRE)F [ JL501 2 Al 50% [£:19.900, 1
JL503 50%
JL505 46%
JL507 40%
JL509 40%
JL511 40%
JL513 46% £:22.000,
JL515 49% 121,300, £
JL517 52%
JL519 52%
JL521 46%
JL523 46%
JL525 46% 20,300, £:25.600.
JL527 43% _|$:26.900. £:19.300,
JL529 43% | %:26.900. £:19.300, B:
JL531 48% 25,600, £:17.900.
FLUR (B F %) % |_JL500 44% :21.300, & X
JL502 40% |2 +:23.300. H:19.300
JL504 41% | +:22.600. H:20.300
JL506 44% | H:20.300
JL508 52% 20,600, £:21.000, H:20.900
JL510 52% 20,600, £:20.500, H:22.000
JL512 49% 23200, £:20.500
JL514 44% 23,200, £:20.500
JL516 43% | R:21.700, £
JL518 42% 00, £:20.
JL520 42% 00, £:20.100
JL522 42% 00,
JL524 43% 700,
JL526 46% 22,600, X
JL528 46% 21,500, £:17.900
JL530 52% 21,500
R (PE)=15E RRCAE)F [ _JL303 56% | A:19.800. £:22.100, £:22.800
JL305 48% |%:22.800, F:23.500, H:18.700
JL307 41% |2 +:25400. H:18.700
JL309 38% | 2::26.800. T:26.000, H:19.400
JL311 38% 26,800, £:26.000, H:19.400
JL313 40%
JL315 46%
JL317 53%
JL319 56%
JL321 56%
JL323 55%
JL325 52%
JL327 50%
JL329 46%
JL331 46%
JL333 46%
JL335 45%
BRI JL300 50%
JL302 46%
JL304 46%
JL306 44% :19.400
JL308 45% :19.400
JL310 49% :23.100. H:20.500
JL312 56% :22.100. H:20.500
JL314 56% :23.200
JL316 56% :23.200
JL318 49% 00, H:24.100
JL320 46% 00
JL322 45% |4 :21.300. H:26.200
JL324 44% 00
JL326 44% :21.300
JL328 44% 400, H:25.500
JL330 48% .400. H:24.100
JL332 56%
AR CRE) =R FR(CRE) % |_JL551 70%
JL553 67%
JL555 68%
JL557 63%
JIIIES JL552 63%
JL554 69%
JL556 70%
JL558 70%
RERCRE) =/ M2 RRCRE) S |_JLi83 57%
JL185 46%
JL187 50%
JL189 52%
JL191 52%
JL193 5
IR JL182
JL184
JL186
JL188
JL190 49 .
JL192 49% 800, £:10,500
FERCRE) =R RERCRE)F | _JL231 64%
JL233 64% |+
JL237 61% 4,900, #:15,500, £ B:11,500
JL239 55% |4 6,000, £ H:11,500
JL241 53% :11,500
[T JL232 61% |8 500
JL234 55% |4 1500
JL236 E 1500
JL240 E 111,500
JL242 4
R CRE) =4t RERCRE)$E |_JL3T1
JL373 50%
JL3T5 52%
JL377 | _48% |
JL379 | _48% |
EFIE JL370 55%
JL372 48% :18.100
JL374 54% :19,200
JL376 52% :20,600
JL378 58% |4 :19,000
RR(CRE)=K%9 RRCRE) % |_JL661 44%
JL663 44% :23,000, B:20,400
JL665 44% : 20,
JL667 45%
JL669 19% | &
JL671 [_a9% |
RRHE JL662 52%
JL664 46%
JL668 [ _a9% |
JL670 [ _a9% |
JL672 42%
JL674 42%
RR(RE)=-RIK RRCRE)$ |_JL605 48%
JL607 50%
JL609 55%
JL6T1 | _55% |
JL613 57%
JL615 57%
RIGF JL606 57% 19,700, £:22,200, H:19,300
JL608 53% | % +:21,600
JL610 55% | 20,400, £:21,600, £:21,300. H:22.200
JL612 47% 20,500, H:24.400
JL614 47% 20,500, H:24.400
JL616 51% |£:24,400, £:19.700. H:23800




MEEZISI21 1 EEXR(11A24~1281BEES)

EEBEAB 2016/09/06
T1/724-12/1
=40 23 T 2IE
B B51% W&
R CRE)=#EX RECHE) R [ JL623 21.100 49%
JL625 21,600 | 47%
JL627 21.600 | 47%
JL629 20800 | 49% 1.400
JL631 20800 | 49% 1.400
JL633 18.300 | 55% 9.200. %:20.000, F:19.900. H:21.600
JL637 20.200 :20.800. 200
JL639 .200 00, £:18.900, H:22.200
AR JL622 .600
JL624 600
JL626 100
JL628 300 | 55%
JL630 22.200 | _46%
JL632 22.200 | 46%
JL634 22200 | 46% 22,600, +:19.700. H:23.700
JL638 9100 | 54% |%:22.600. H:22.200
KR () =1LE KB () % |_JL2201 6.100 53% 1£:20.500
JL2203 7700 | 49% |%+:21.800. H:17.600
JL2205 7700 | 49% |%+:21.800, H:20.100
JL2207 8900 | 45% [&+:21.800. H:21.100
JL2209 8900 | 45% [£:21.800, £:16.800.
JL2211 20500 | 41% |%:23.400. £:16.800, H:22.200
JL2213 20000 | 42% |%:22.00. £:16.800, H:21.100
e s JL2200 16.800 51% [+:19.500
JL2202 18.900 | 45% [£1:19.500
JL2204 19.300 | 44% |£+:20.000. H:19.600
JL2206 20000 | 42% 20,500
JL2208 20000 | 42% 20,500
JL2210 300 | 47% |£:22.800. £:19.500. H:22.200
JL2212 100 | 53% 22.200, £:16.800. H:20.500
KR () =818 KBR (FFH % |_JL2241 .200 50%
JL2243 200 | 50%
JL2245 900 | 48%
JL2251 200 | 44%
HRR JL2240 .400 43% :17.400
JL2244 900 | 48% |&1:18.400, H:17.900
JL2246 900 | 51% |£:19.000, H:17.900
JL2250 900 | 51% |H:17.900, £:19.000. £:15.300
KR (=K% KBR (5D 5 [ U236t 300 | 34% [&+:15700. H:14.900
JL2365 900 | 40% |& £ H:15.400
JL2367 400 | 33% [£:15400, H:15.700
K55 JL2362 900 | 40% | H:14.300, £:15.400. £:14.900
JL2364 300 | 34% 15.700
JL2366 400 | 29% 15700, £:14.300

JAL



MFEZI5121 EEXR(12B2~1588FH)

EEEMAB ;- 2016/09/06

12/2-15
3MTE
EEH T3
EIEIES
RECRE) =R (FF&)| KRB R 56%
56%
52% .
47% | %:23.800, N
47% | %:23.800, £:27.800. X
47% | %:23.800, £:27.800. .
52%
54%
57%
57%
52%
52%
52%
50%
50%
54%
FLIR R TR R 50%
47% | +:21.900. H:18.200
48% | +:21,300. H:19.200
50% | H:19.200
57 119,500, £:19.800. H:19.700
7 119,500, £:19.
4 21,800
1
49
49%
49%
49%
49%
52%
52%
57%
R CRE) =18/ HR(PE) R 60% 1400, 1:22.000
52% 700, H:18.100
7
4
4
6
1
7
60%
60%
58%
56%
4
1
1
1 .
50% 26,900 F:18.800
FES 54% | %:20500. £:21.400.
51% |H:17.400
51% [H:17.400
48% |4 +:24.200. H:18.800
50% |%+:23.700. H:18.800
53% |%:21.400. +:22.300. H:19.900
60% 20,800, £:21.400, B:19.900
60% |2 +:21.400. H:22.500
60% |2 +:21.400. H:22.500
53% |%:24.600. +:21.400. H:23.300
51% 24,600, £:20.500
50% | %:24.600. :20.500. H:25.300
48% 00
48%
48% :
53% |%:24.600. T:18.800, B:
60% | %:23.300. H:22.000
RE (@)=l R CHE) % 71% |2:13.600. £:14.800. H:13.800
68% | 2:16.100. £:17.500. H:14.900
69% | %:14.000
67% |%:15.000. H:16.300
JIIIES 69% | £:14.700
70%
70% N
70% ,000, H:16,200
R (FE) =ML ECAC RS 61% 1300, 7K:12,200, A:12,200, £:12,200, +:10,800
51%
55%
56%
56%
56%
INARE 58%
58%
58%
56%
4 .
4 800, £:10,500
FERCRE) =R RERCPE) % 7!
I
3 4,900, #:15,500, £ B:11,500
58% 6,000, £ H:11,500
56% :11,500
G 63% 1500
58% 1500
67% 1500
57% 1500
56%
RECRE) =1L hM RRECRE)# 56% 9,500, +:18,700. H:16.400
53% |£:21,000, £:21,500, H:19.000
55% | H:20,200
1 22500, +:18.200
1 22500, F:18.200
JLAMFE 7% |+:19,500, H:17.500
1 21,500, £:20,500, B:18,100
56% |2::20,200, F:18.800, H:19.200
55% 21,900, £:18,100, B:20,600
61% 20,800, £:16.400, H:19,000
RR(CRE)=K%9 RERCRE) %
K5 59% |+:19,200
4 21,200, H:19,200
7 500, 2 H:19.700. £:20.100
7% [ 5:18,500, J H:19.700, £:20.100
JL672 20,700 1 800 . B:22.400
JL674 20,700 1 1800, £:19.700. H:22,400
R (FAE)=-RB HRERCRE)H |_JL605 9,800 7 £:20,700. H:17.
JL607 8,900 | 50% 20,700, +:20,300, H:18,200
JL609 7.300 19,300, 18,200
JL6T1 7,300 £:19.300, 300, H:18,200
JL613 500 %:20,700, H:19.800
JL615 500 20,700, H:19.800
RIGH JL606 ,500 & H:16,900, %:17,300, £:19.400
JL608 100 £1£:18.900
JL610 ,300 17,800, %:18.900. £:18,600. H:19.400
JL612 20,300 8,000, H:21.300
JL614 20,300 8,000, H:21.300
JL616 18.700 1,300, £:17.300. H:20,700




MFEZI5121 EEXR(12B2~1588FH)

EEBEAB 2016/09/06
12/2-15
= (7 IOE
E—7M =
EIEIES "
R CRE)=#EX RRCPE)F [ JL623 58%
JL625 57%
JL627 57%
JL629 58% 8.800
JL631 8.800
JL633 63% | /kK:16.900. %:17.600, £:17.400. H:18.900
JL637 59% |4:18.200. £:16.800, 0
JL639 :16.800, A:17.400. 00 £:16.600, H:19.400
AR JL622 X £:19.200, B:17.400
JL624 .900 800
JL626 800 £:17.300.
JL628 100 |63 £:17.300. B:17.
JL630 400 | 56% .90, +:18.200
JL632 400 | 56% .800. £:17.300, H:20.800
JL634 400 | 56% 800, £:17.300. H:20.800
JL638 800 | 61% |£:19.800, H:19.400
KR () =1LE KB () % |_JL2201 .300 59% 1:19.400
JL2203 800 | 55% 20,700, H:16.700
JL2205 700 | 52% 21,800, H:20.100
JL2207 .900 | 49% 21,
JL2209 1900 | 52% 20,700, +:16.000, H:20.000
JL2211 400 | 48% 22,200, £:16.000, B:21.100
JL2213 000 | 49% |£:21.100, £:16.000. H:20.000
e s JL2200 .000 57% |1:18.500
JL2202 900 | 52% |%+:18.500
JL2204 8300 | 51% [£+:19.000. H:18.600
JL2206 20000 | 46% 20,500
JL2208 20000 | 46% 20,500
JL2210 7400 | 53% |%:21.600. £:18.500, H:21.100
JL2212 300 | 59% [£:21.100, £:16.000. H:19.400
KR () =818 KBR (FFH % |_JL2241 .200 54%
JL2243 200 | 54%
JL2245 900 | 52%
JL2251 200 | 48%
HRR JL2240 .400 47% :17.400
JL2244 900 | 52% |&+:18.400, H:17.900
JL2246 900 | 55% |£:19.000, H:17.900
JL2250 900 | 55% |H:17.900, £:19.000. £:15.300
KR (=K% KBR (5D 5 [ U236t 300 | 41% |&+:16.000. H:13.800
JL2365 900 | 46% |& £ H:15.400
JL2367 400 | 40% |£:15.400, H:16.000
K55 JL2362 900 | 46% | H:14.300, £:15.400. £:14.900
JL2364 300 | 41% 15.700
JL2366 400 | 36% 16.000, £:14.300

JAL



MEERISI21 1 EEXR(12816~21 BEFES)

EEEMAB ;- 2016/09/06

12/16-21
3MTE

=40]

E—78
EHES

HR (FE) =4I (FTFi%)| RRCRE) £

AL (B F i) %

IR CRE) =18k R CRE) %

58% .8800 fZZVO 122000 H:19.900
60% 22.500, 1:22,000.

BRI

60% = 21 400, EI 22.500
60% +:21.400. H:22.500

AR CRE) =R RRECRE)#

68% [%:16.100. +:17.500.
69% |%:14.000
674 1%15000. ET6300

ENES

00.

,000, H:16,200

RS CRE) =/ RRECRE)# .300, 7K:12,200, £:12,200, £:10,800

IMAFE

:800. £:10,500

R CRE)=FEl RRECRE)#

&
|
=
=5
S|

M

500, £ H:11,500

FELIFE

54% 7 100,

R CRE) =4t RERCPE) % 56% 9,500, 3
53% [%:21,000, 3

55% | H:20,200
1 22,500, F:18.200
1 22,500, F:18.200
7% | £:19,500, H:17.500
1 21,500, F:20500,

EI=¥IES

RECAR)=K%9 RRECRE)#

21, 200 £:17,800, H:20.700

RRHE

E 19,200

JL674 20 700

RECRR)=R& RRCAE)H [ JL60S 9.800
JL607 8900 | 5
JL609 7.300
JL6T1 7,300
JL613 500
JL615 500
R JL606 500
JL608 100 i
JL610 300 2
JL612 20,300 | 56%
JL614 20,300 | 56%
16 18,700 | 50%

7 300 £ 19 400
18,900

7.800. 7k:17.900. £:18,900. +:18.600. H:19.400
8,000, H:21,300

8,000, H:21.300

1,300, £:17,300, H:20,700

H:16,900




MEERISI21 1 EEXR(12816~21 BEFES)

EEBEAB 2016/09/06
T2/16-21
3MTE
=45 -2 TS
EIEIES
R CRE)=#EX RRCPE)F [ JL623 58%
JL625 57%
JL627 57%
JL629 58%
JL631 58%
JL633 60%
JL637 59%
JL639
AR JL622 X
JL624 .900
JL626 800
JL628 100 |63
JL630 400 | 56%
JL632 400 | 56%
JL634 400 | 56%
JL638 800 | 61%
KR () =1LE KBR (FFH % |_JL2201 .300 59%
JL2203 800 | 55%
JL2205 700 | 52%
JL2207 .900 | 49% =]
JL2209 1900 | 52% 20700, £:16.000.
JL2211 400 | 48% 22,200, £:16.000.
JL2213 000 | 49% |£:21.100, £:16.000. H:20.000
e s JL2200 .000 57% :18.500
JL2202 900 | 52% |2 +:18500
JL2204 8300 | 51% [£+:19.000. H:18.600
JL2206 20000 | 46% 20,500
JL2208 20000 | 46% 20,500
JL2210 7400 | 53% 600, £:18.500, H:21.100
JL2212 300 | 59%
KR () =818 KBR (FFH % |_JL2241 .200 54%
JL2243 200 | 54%
JL2245 900 | 52%
JL2251 200 | 48%
HRR JL2240 .400 47%
JL2244 900 | 52%
JL2246 900 | 55%
JL2250 900 | 55%
KR () =K% KBR (5 % |_JL2361 .300 41% X
JL2365 900 | 46% |& £ H:15.400
JL2367 400 | 40% |£:15.400, H:16.000
K55 JL2362 900 | 46% | H:14.300, £:15.400. £:14.900
JL2364 300 | 41% 15.700
JL2366 400 | 36% 16.000, £:14.300

JAL



EBEEAB 2016/09/06
$7E 1L
X 23 ATE
R CRE) =4Ik (FF®)| "R K _—:g;
[JL508
[Jrs07
[ Jr509
[urs2
[Jr523
[JL525
[or527
529
531
FLOR (37 F %) F|_JL500
[Jrs02
[Jrs04
[ JL506
L508
[Jr520 700
[Jr522 700
[Jr524 500
[JL526 20,100
[Ji528 20.100
1530 7.900
R (RE) =R RR(CHE) S [ _JLSSI .900
[JL553 900
[ JL555 800
L557 200
FE 1552 700
[ 554 200
[ JL556 700
L558 700
FR (HE) =R RRCHA) L231 .800
1233 800
1237 800
L 500
L 500
EIE3 L 800
L 600
L 500
L 500
L 300
R (PE)=RE RRE(CPE)F |_JL605 700
[ Jre07 7.700
[ Jr609 7.700
JL6TT 7.700
JL613 8,800
JL615 8,800
El% | _JL6os 7.200
JL608 25,900
L 600
L 300
L 300
L 700
RR(HE) =R RRERCPH)H |_JL62! 26.700
[ JL625 26,700
JL627 26,700
[ Jr629 000
JL631 000
JL633 700
JL637 100
JL639 900
FAE | _J622 25,400
[Jre24 25,900
[ JL626 24,500
JL628 21,700
L 21,600
L 20,800
L 20,800
L 19.100

MEERI5121 EER (11 A3REED)

JAL



EEBEAB 2016/09/06
=40] B2
RECRE) =R (FF&)| KRB R _-gg;
[ JL505
[ JL507
[ JL500
[JL52
[Ji523
[JLs525
[JLs527
529
531
FLIR (B F %) % |_JL500
[JL502
[JL504
[ JL506
L508
[ JL520
[ JL522
[ JL524
[ JL526
[ JL528
530
R CRE) =18/ HR(PE)F | _JL303
[JL305
[JL307
L309
L319
L321
| JL323
L325 i
L327 20.500
[ JL320 22.100
331 22.100
[ JL333 22.100
335 22.800
FES L300 20.700
[ JL302 22.100
304 22.100
[ JL306 23.200
L308 22.800
L 100
L 000
L 000
L .000
L .000
L32, 22.100
[ J322 22.800
324 200
[ JL326 200
L328 .200
L33, .400
L33: 000
FRCRE) =R FRCRE)$ |_JLSS .200
[ JL55: 400
[ JL555 200
557 .200
JCITIES 1552 400
[ JL554 600
[ JL556 200
558 200
R CRE) =R RERCPE) % L231 100
L233 100
L237 300
L. 100
L. 800
FELLSE L: .300
L. 100
L. 100
L. 600
L. 800
R CRE) =4t RERCPE) % L: .000
L37. 20,500
L37! 800
L37 1300
L37! 1300
EI&RE S L37 700
L37; 1300
L37. 100
L37, 600
L37, 200
RE(CRE)=K5 RRCPE)$ |_JL66 22,400
[ JL66: 22,400
[ JL665 22,400
[ JL667 21,900
[ JL669 20,500
671 20,400
KH% | _JLe62 19,300
[ JL664 21,600
[ JL668 20,400
670 20,400
672 ,000
674 ,000
RR(RE)=-RIK RR(CRE)$ |_JL605 .700
[JL607 600
[JL609 700
L611 ,700
613 ,800
615 ,800
RIGH |_JL606 ,800
L608 20,700
L ,700
L ,300
L ,300
L 400

THEZISI21 1 EEXR(11A23BBESD)

JAL



MEHEZI5I21 1 EER(1222~29BERS)

EEEAR 2016/09/06
12/22
X 23 ATE
T4
R (FE) =ALIR (T F )| RRCPE) % [ JL501 17.600
[ JL503 17.600
[ JL505 20.100
[ JL507 .300
[ JL509 .300
L .100
L .200
L 600
L 000
[JL 7.000
[_JL52 9.000
[ JL523 9.200
[ JL525 9.200
[ JL527 20.100
529 20.100
531 18.300
AL (3 F i) 5| JL500 20.100
[ JL502 1.300
[ JL504 20.700
506 9.800
L508 7.000
L 7.000
L 8.200
L 9.700
L 20,500
L 20,500
[ JL520 20,500
[ JL522 20,500
[ JL524 20.300
[ JL526 9.000
[ JL528 9.000
530 7.000
IR CRE) =18 Il RRCRHE) % | _JL551 400
[ JL553 700
[ JL555 300
557 300
JEES L552 600
[ JL554 000
[ JL556 100
558 100
IR CRE) =R RRCRHE) % | _JL231 .100
L233 100
L237 .900
L. 000
L 400
=[S L: 300
L 100
L 100
L .000
L 600
R CRE) =K% FRCRE)$ |_JL66 20.100
[_JL66 20.100
[ JL665 20.100
[ JL667 700
[ JL669 500
671 500
K75 | _JL662 1400
[ JL664 .400
[ JL668 400
670 400
L672 20.700
L674 20.700
AR CRE) =Ki& R (CRE)$ |_JL605 .800
[ JL607 .900
[ JL609 .900
L611 .900
613 .900
L615 .900
RW% | _JL606 .900
L608 100
L 1900
L 20.300
L 20.300
L 700
R CRE)=REX RRCPAE) R | JL62 .500
[ JL625 ,900
L627 ,900
[ JL629 ,900
L631 ,900
L633 ,900
L637 700
L639 ,900
REARS [ JL622 ,900
[ JL624 ,900
[ JL626 ,800
[ JL628 100
L ,400
L ,400
L ,400
L ,800
KR (=LA KB (B FH 5 [ JL2201 300
[ JL2203 ,800
[ JL2205 700
[ JL2207 ,900
[ JL2209 ,900
L2211 ,400
L2213 ,000 I
Wa%k [ JL2200 ,000 [t
[ JL2202 ,900 T
[ JL2204 8,300 I
[ JL2206 7.000 T
[ JL2208 8,000 T
221 7.400 |1
221 ,300 | 16
KR (FFH) =318 RBR (A 8 | JL224 .200 [ 1
[ JL224: 200 I
[ JL224 ,900 1
225 200 17
HiRR 224 400 T
[ JL224: ,900 T
[ JL224i ,900 E
2250 ,900 E
KR (FH) =K% RBR (A % | JL2361 .300 1
[ JL2365 ,900 INE
L2367 400 1
K7% | JL2362 ,900 1
364 ,900 1
366 400 | 12

JAL



EEEAR

2016/09/06

=40]

R (FE) =ALIR (BT F %)

R CRE) %

L501

ALUR (B F i) 5| JL!

R CRE) =Rl

RRCRE)F | JU

ENTES

R CRE) =Ri&

RRCRE) R | JU

L613

L615

&

5 5

R CRIA) =}

RROPE)RE [ J

&

o= |— |~ |~ ||
S| |33

MEEZI5121 1 EEXR (12830~31 BERS)

JAL



TEZISI21 1 EEXR(A1~6BEED)

EEBEAB 2016/09/06
=40] B2
RECRE) =R (FF&)| KRB R _-gg;
[ JL505
[ JL507
[ JL509
[JLs2 20.100
[JL523 20300
[JL525 20300
[JL527 20700
529 20700
531 20300
FLIR (B F %) % |_JL500 7.000
[JL502 200
[JL504 200
506 200
L508 700
L 20700
L 21800
L 21.800
L 21.800
L 22300
[ JL520 22.300
[JL522 22.300
[JL524 22.300
[ JL526 21300
[ JL528 20300
530 20300
R CRE) =18/ HR(PE)F | _JL303 7.600
[JL305 100
[JL307 100
L309 800
L 800
L 200
L 200
L 900
L319 900
L321 400
[JL323 22.000
L325 000
L327 000
[JL329 700
331 700
[JL333 600
335 600
RER L300 900
[JL302 400
304 7.400
[ JL306 1.900
L308 8.800
L 4.900
L 4.900
L 22.500
L 27.900
L 23300
L32 27900
[JL3z2 25300
324 25300
[ JL326 25300
L328 4,600
L33 3.300
L33 7.900
RRE(EE) =R RRERCPHE)F |_JL5S .500
[ JL55 500
[ JL555 500
557 .500
FEIES L552 900
[ JL554 000
[ JL556 700
558 1700
R CRE) =R RERCPE) % L231 .500
1233 500 X
L237 500 500
L. 500 500
L. 500 500
EIES L. 500 000
L. 500 500
L. 300 500
L. 1100 500
L. 6,400 500
RR(CRR)=RIK R (CRE)$ |_JL605 1.600 .600
[ JL607 200 200
[ JL609 200 200
611 400
613 800
615 ,800
E&Rx  |_JL606 900
[ JLe0s ,900
L 25,400
L 25,900
L 25,900
L 25,900
KR (FFH=(L& KB (FFH 5 | JL2201 .300
[ JL2203 700
[ JL2205 500
["JL2207 500
["JL2209 1100
L2211 1100
L2213 20,000
e 5 [ JL2200 ,500
[ JL2202 ,500
[ JL2204 ,600
[ JL2206 ,000
[ JL2208 ,000
L2210 .100
L2212 ,400

JAL



T%15251 5BEXR (10A30~11 A6 EEZRD)

WEHEAE 2016/09/06

T0/30-11/2.11/4-6
=40) 7
BA
RRECHB)=XR (F) | RECAB) % 453
45
458
X 458
1.800. F:10.400 458 3.000. £:11.700. H:10.300
+:11.800. H:10.400 458 500, £:11.700. H:10.300
10.400 0
[E]
[E]
[E]
[E]
] ]
KR (R FH % A 458
100, 1:10.400
400
400
300 1.9.100._£:10800
800 300, £:11.700
1.800 458
0.900. £:10.800 458
0.900. +:10.400 458
0900, F:10.400 458
458
458
458
458
[y 458
RECRE)=HE (BH) | RECAB) F|_J 453
45
[y 458
[ 458 £:21.500. H:17.400
[ 458 £:21.500. H:17.400
[J 458 +:20.700. H:17.400
[ 4567 £:20.700. H:17.400
458
458
458
[y 458
| 458 £:20.500. H:18.600
| J 458 %:25.100. H:20.700
[y 458 £ $:17.300. A:16.400
[y 458
[y 458
[y 458
[y 458
[y — 458 [
2,600, H:25.400 458 700, 218,000
400 458 700, %:18.000
400 458
200, H:25.400 458
[ J 458
[ J 458
| JL922 | 28HF 458
FR CHE) =) HRECAE) & 453
45
[J 3500, £:13.000. H:13.600 458
13200 2514300 458
JEVITE I N 458
[ 000 N 1=
[J 1900 [ 4587
| J | 45E17
R (FE)=K5 HRECAE) & A5HIAT ] 13
458 400 | 61%
458 400 | 66%
400 | 66%
66%
66%
K% 68%
68%
66%
66%
61%
64%
R (HE) =R R (P& 69%
66%
69%
69%
70%
70%
RIg 5 70%
70%
69%
65%
65%
69%
HR(HH)= EREBE) R J 70%
[J 66% NI
[J 15,700, %:17,000, F:18,300 65% | 7:14,600. %:15.200, 16,300, 14,800
[J 200, % H:16,000, F:16,500 67% | 413,600, £:14.200, £:14,700, EI13900
zoo £ H:16,000, F:16,500 67%
6%
[J 000 518,300 65%
288 500, +:16.100. H:19.800 65%
AR | J 288 67%
[J 288 65% 14,700, H:13,500
[J 288 68% 3,700, H:13,500
[J 288 600, :13.400, H:14,000
[J 288
[J 288
[J 288
[J 288
HR(HE) =55 EREBE) R J 28H
[J 288
288
[J 288
[J 288
288 7% [ JE 13,400 %:15.200, H:17.900
ECE 288 5200, F:13500
[J 288 0
[J 288
[J 288
[J 288
RECRHE)=ER, RECRH) F | JL
JL 513,700
JL 5500, B:13,700
JL 7% 4,400, H:13.400
JL 71% |&F A:13400_
[ JL653
JL655
BERBR JL .500
JL 200 F:17,500
JL 6,800
[J 6.000_ H:19.800
700, H:19,800
KR (FA=ILE KR (77 | J 9.000
0,300, H:16.100 55% 9.800. 16,600
[V 1,500, 8:19.600 51% 1,000, H:19.10
[V 1,500, 8:19.600 51% | 21,000, H:19.10
[V 51% 300, +:14.800, B 19100
47% 00.
8% NI 19100
wEE | J 57% 500
[V 8,000 51% 7,500
[V 8,500, H:18,100 50% 8,000, H:17.600
[V 0,400 47% 9,900
[V 0,400 44% 9,900
0. £:18,000, H:20.700 53% i17500 H:20200
5:20,700, +:15.300, 5:19,000 50%




[EBEEI EER(1MAT~2BEFES)

WEHEAE 2016/09/06

— 5e A : 7178

A
0.000. +:11.800 458

RRCAB)=KR(Ff) | RRWB) R JL

SBERERERFRFERE

KB (P2 [ JL
L 100, £:10.400 45H
L 400. £:10.400 458
L 400, £:10.400 458
L 00 458

11.800
.900. 1:10.800

HR CHE)=18R HRCABE) R

[EE N
14.200
14.200
2
| | 2881F
| | 2881F
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.300 62% +:17.
.300 62% =
.800 60% 214,
,400 55% 217,900, 1:12,400, H:16,900
,000 57% :16,900, 1:12,400, H:15,900
=3 400 64% | 1:14,600
,100 59% 1:14,600
400 58% +:15,000, H:14,700
,800 57% 1:16,200
,800 54% 1:16,200
,600 61% :17,300, 1:14,600,
L: .800 66% :16,900, £
ARG B | KRG L 100 [ 60 [%:3700. £
,100 60% 1:14,600,
,700 58% 214,600, 1:14,;
,900 54% 16,100, £:13,700
HiaR ,100 54% :14,200
,700 58% +:15,100, H:14,600
,800 61% 215,600, H:14,600
,800 61% :14,600, £:15,600,
RREFM-KA | FRENE 800 | 50% [ &+:13,300, H:11.300
,700 41% :10,500
,800 50% 212,700, H:13,300
P ,500 51% :11,800, £:12,700, +:12,300
400 43% 14,000
,700 41% 13,300, £:11,800

JAL
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MEEAA . 2016/09/06
2/13-28
FH Z—I—% 8
[=45) Be | BAS BER
| ERE | no2 %
FOR CRE) =AM () | 3R () 5 00 0.500. H:8.900
.000 52% | K
.000 56% | K
.000 56% | K X
.700 58% | K .800, .600. H:9.700
.700 58% | K .200, 200, H:9.700
.700 62% | K .200
700 62% | K .200
100 56% | K .500, 00, H:9.700
100 X 500, 700, H
100 X 500, 700, H
100 X 400, 700, H
100 x 700, H
700 | ¢ E;
NG I 7700 | _69%
100 54%
700 54%
100 54%
.000 56%
.500 58%
.000 60%
.000 60%
.000 60%
.000 60%
.000 60%
.000 60%
.000 52%
.000 52%
.000 52%
R (HE) AR (FTR)| R CHE) % | J 200 |_70%
200 70%
200 70%
700 66%
.700 63%
100 62%
100 65%
.200 67%
100 69%
.600 72
.600 72
.500 7"
.400 7"
400 7"
.600 4
.600 4
900 68
AL (BT ) 5 500 | 64t
700 61%
200 62%
.300 65%
.800 69%
.600 2%
.600 2% :
.200 70% | A 700, 5 :12.700. H:15.200
.000 65% | A1 .500. :15.200. +:12.800
.000 65% | A1 .500. :15.200. +:12.800
.600 64% | A 2.
.600 64% | A1
.600 64% | A
.900 66% | A1
.500 67 P
.600 72 X
.600 72
RR(HE)TeH | RRCAE % | J 500 |74
.000 71
.800 62
100 58%
7.100 58%
6.200 61%
4.100 66% 1:16.200. H:12.2
.800 vl 7K:11.500. £ +:14.200. H:12.600
500 72 100, £:13.800. H:12.800
,600 74 =]
.200 73
,500 70%
,800 69%
,500 65%
,100 66%
,100 66%
,500 2
EEE S ,500 7
,500 7"
,500 7"
,300 3
,700 4
.800 1
,600 74
,600 74 B
,900 73 :15,100
,000 68! 100, H:15,800
,100 66% 13,400
,400 67%
,500 65%
,500 65%
,500 65%
,500 67%
.500 2%
TR CAE) =94 () | Jm CHE) % | J 300 | 64t
,600 59%
,600 59%
,600 59%
000 6 X
7.000 6 x ,400, H:16,300
,500 7
,500 7
,500 7
,500 7
,500 7 £:19,500, £ H:17.400
,500 7 £:23,200, H:19.400
FREEGRE R [ ,500 7 %:16.200, B:15.300
,500 7
,500 7
,500 7
,500 7
,500 64
,500 64
,600 59%
,600 59%
,600 59%
,000 6
,300 6
RRCAE R | R (B % | J 600 | 7
,500 7
900 7
900 7
RENES .300 7. A
.700 7 ,500
,000 73% ,700, £:11,600, H:14.400
,000 73% ,700, £:11.600, H:14,400

JAL



[R—I\—5%1B 1 BER(2A13~28BHEES)

MEEAA . 2016/09/06
2/13-28
=40 — 2= —%H
R | O
ETEE:
RR(HE)-AS | RRCAE % 3500 | 66% 3400 B
4.200 64% 4.300, %
.200 67% 3.400. H:
.600 1% 1:12.100.
.500 69% .900, H:
.500 69% .900. H:
K% 100 2% 600
100 2% .600
.500 69% |:K:12.700, 100, £:13.200
.500 69% |:A:12.700, 100, £:13.200
400 64% 700, :15.800, 1:13.800, H:16.400
400 B
RR(HE)-EH | RRCAEE | J 600
.700
.500
.500
100
100
RE% 100
.100
100
700
700 . £:14
L .600 71 14.900. £:12.000
HR(PH) =R HRCHE) | J .000 71 +12.100. +:12.700. H:10,000
.500 67 :13.600. 1:14.000, H:10.800
.500 67 1:14.000. H:12.000
700 69% | :AJK:12.500, € 1:13.200. H:11.400
700 69% | :AJK:12.500, € 1:13.200. H:11.400
.500 70%
.300 70% |#:12.800, F:11.
700 69% |A:
RERHR .800 69% |t
.500 67 CE3
400 72
.500 74
.500 74
.500 70%
900 1%
400 2%
RR(HE)-8H | RRCHE % | J 500 | 70% |4
.500 70%
.200 68% 200, £:14.000 00
.600 74% 900, £:12.200. H:12.300
.800 69% 13.400. 00
.800 69% ! 14.300
= I 700 69% 12.500. 00, 1:14.300
.800 69% 3.400. £:14.000. H:12.500
.000 1% H:12.200
.500 70% 700, £:13.200. +:12.800. H:14.300
.500 0% |€ .400. H:14.300
.200 68% |% 000, £:12.500. H:15.000
RACHE-ERE | RRCHE) R 800 | 73% |4
.300 69% :14.500. H:12.300
.600 69% 00
.200 74%
.200 74%
.900 75%
.600 7
.500 1
ERBR 800 | 7
.800 7
.500 1
.300 1
.800 7
.800 7
.500 69%
.500 1%
KR FDME | AR (FE 800 | 66% [@F
100 62% =
.300 62% 117,
.300 62% =
.800 60% 214,
400 55% :17.900, 1:12,400, H:16,900
,000 57% :16,900, 1:12,400, H:15,900
=3 ,400 64% | +:14,600
,100 59% 1:14,600
400 58% +:15,000, H:14,700
,800 57% 1:16,200
,800 54% 1:16,200
,600 61% :17,300, £
L: .800 66% 116,900, -
KR (F=#R | AR (A% [ L 100 | 60% [#:13,700, +:
,100 60% 1:14600, B:
,700 58% :14,600, 1:14,;
900 54% 16,100, £:13,700
[ 100 54% 114,200
,700 58% +:15,100, H:14,600
,800 61% :15,600, H:14,600
,800 61% :14,600, £:15,600,
KR FD=XS | AR (FDE 800 | 50% |#+:13,300, H:11,300
,500 51% 1+ 8:12,700
,800 50% 112,700, H:13,300
P ,500 51% :11,800, £:12,700, £:12,300
,400 43% 14,000
,700 41% 13,300, £:11,800
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R CAB)=XR () | RRCHHE) %

KR (A F | _J

) 1/7 1/8 1/9
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FLIR B %) 5

R CRER) =18/

RRCPE)H | JL303 |

EELEES

R CRE) =R RROPE)R | J
JENTES

RECAR)=K%9 RRPE)R | J
RO%

RECRR)=R& RRPE)R | J

R

[R—N—%FIEER(AT~9BEES)
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EEBEAB 2016/09/06
/1
(=45 R—\—5%8
e
R (CRE) =R HR(PE) R .400
900
900
900
900
800
500
500
AR .800
7.800
100
700
700
800
500
500
FR(CRE)=215 RRPE)F [ J .300
300
800
1.900
2.500
2.500
B 7.800
800
800
300
700
500
RER(AEB)=ERS HR(PE) R ggg
300
.900
.900
700
100
300
ERBR 700
700
500
300 .200
700 600
700 600
300 800
100 800
KR (FFH=1L& KB (FH % | J 400 800
500 300
200 400
7.200 400
400 5.900_|
400 900
400 900
[TE=E 3 .600 400
600 100
000 700
.200 700
.200 700
600 .900
400 400
KR (FFH) =818 KB (75 % .200 500
.200 500
800 300
300 700
FRR 700 800
700 200
500 200
.900 200
KR (FFH) =K KB (75 % .300 .300
700 700
800 300
K5 .300 800
400 000
800 300

[R—N—%FIEER(AT~9BEES)

JAL
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EEEAR : 2016/09/06

27 2/6 2/1 2/8 2/9 2/10 2/11 2/12
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[R—N—%FIEER(Q2A6~12BEBES)

EEEAR : 2016/09/06

2/6 2/1 2/8 2/9 2/10 2/11 2/12
) A/ | AR | A5 | AN\ | A5 | A5 | A5
e B

R (CRE) =R HR(PE) R .000 | 1 |_12.700
500 | 1 [ 14,000
500 | 1 [ 14,000
700 | 1 [13.200
700 | 1 [13.200
500 | 1 ) [ 12500
1300 | 1 300 [ 11.400
1200 | 1 700 [ 12700
AR 800 | 1 800 [ 13.800
1300 | 1 500 [ 14.800
400 | 1 400 [ 11.900
500 | 1 500 [ 11.300
500 | 1 500 [ 11300
500 | 1 500 [ 11.900
.900 900 [ 11.900
1400 400 [ 11.400
FR(CRE)=215 RRPE)F [ J .500 500 | _13.400
500 500 [ 13.400
.200 200 [ 14.000
600 600 [ 12.200
300 800 [ 12.800
800 800 [ 12.800
ECES 700 500 [ 14300
800 800 [ 12.000
000 000 [ 12.200
700 500 [ 12.800
500 500 [ 12,500
.200 200 [ 12,500
RER(AEB)=ERS HR(PE) R .800 800 | 12.500
300 300 [14.500
600 600 [ 15.000
1200 200 [ 12,500
.200 200 [ 12,500
.900 900 [ 11.200
600 600 [ 11.200
500 500 [ 11.200
ERBR .800 800 | _13.000
1800 800 000
500 500 [ 13.000
300 300 300
800 800
800 800
500 500
500 500
KR (FFH=1L& KB (FH % | J .?gg 800
200
7.200
100
.400
.700
[TE=E 3 .400
100
400
.200
.200
600
1800
KR (FFH) =818 KB (75 % .}gg
700
700
iR 100
.700
800
800
KR (FFH) =K KB (75 % .800
500
.800

K5 .500
.400

.400




[R——%GIEERCAI~9BEES)

EERAA - 2016/09/06
b T
[=45) Be | BAS BEH E—58
B EwE | T :
| #1512 | #I515%
FOR CRE) =AM () | 3R () 5 000 | 60% | 64%
.000 60% 64%
.000 52% 57%
.000 56% 60%
.000 56% 60%
.700 58% 61%
.700 58% 61%
.700 62% 65%
700 62% 65%
100 56% 60%
100 58%
100 58%
100 58%
100 58%
700 | ¢ 58%
KR (B % |_J 7.700 69% 72%
100 54% 58%
700 54% 58%
100 54% 58%
.000 56% 60%
.500 58% 62%
.000 60% 700, £:11.000
.000 60% 700, 7k:9.800, +:9.700
.000 60% 700, 7k:9.800, +:9.700
.000 60% A
.000 60% .600. 1£:9.200
.000 60% .600. 1£:9.200
.000 52%
.000 52% 7!
.000 52% 7!
R CHE) =AU T T )| R CRE) % |_J 700 | 69% 1
100 69% 71
700 69% 71
700 66% 68%
700 66% 68%
100 65% 67%
.600 64% 66%
700 66% 68% 3
.200 67% 69% 400, K.
100 70% 2% .500, t:
100 70% 2%
100 65% 67%
.900 66% 68%
.900 66% 68%
200 2 64%
200 2 64% .
.500 7! 69% #:14.900, £:11.100. B
IR (T 3 _J 100 2! 65% :14.200, £ T:14.900.
.500 59% 61%
.800 61% 63%
.900 63% 65%
400 67% 69%
100 70% 2%
100 70% 2%
700 69% T1%
.500 66%
.500 66%
200 64%
200 64%
200 64%
.400 66%
100 65% 67%
100 70% 2%
100 70% 2%
RRCAE) -8 | R (HE % | J 500 | 744 | 76%
.000 1% 2%
.800 59% 61%
100 56% 58%
100 56% 58%
100 58% 61%
.000 64% 66%
.500 70% 7
500 2% 71
300 73% 71
.900 1% 7
500 | 70% 7
,600 7! 69%
,000 66% 3,200, H:17,100
,000 66% 2,500, B:17,100
,000 66% 1,700, H:18,100
,500 64% 0,300, 1:11,700, H:18,100
EERE ,700 69% 4,700, H:11,300
500 65% 7 11,300
,500 65% 7 1,300
,000 61% 3 6,200, H:11,800
700 62% 4¢ 6,000, H:12,500
,800 69% 1 5,200, H:13,600
.000 73% 75% 3,200, H:13,600
.000 73% 75% 3,200, H:14,000
.300 73% 74% 4,200, H:16,000
,000 66% 68% : :15,000, H:16,800
,400 65% 7 R 18,1 Oﬂi 14,200
,400 65% 7 X :18,100, 1:14,200, H:18,500
,500 65% 7 X :19,200, 1:12,600, H:18,500
500 62% 4% | A: :19,200, 1:13,600, H:18,500
,500 62% 4¢ X 9,200, +:12,500, H:18,100
,200 65% 7 X 8,100, 1:12,500, H:16,800
.500 2% 1,000, B:15,700
HR(FE) =& BH) | "RmmE) [ J 600 [ 64% 17.400, +:17,400
,000 59%
,000 59%
,000 59%
400 62% ,800, H:16,600
7.400 62% 6. .800, H:16,600
,900 70% 7
,900 70% 7
,900 70% 7
,900 70% 7
,900 70% 7 £:19,500, £ H:17.700
,900 70% 7 9,200, H:19,700
Er e )EI I ,900 70% 7 £:16.400. H:15.600
,900 70% 7
,900 70% 7
,900 70% 7
,900 70%
,000 63%
7.000 63%
,000 59%
,000 59%
,000 59%
1400 6.
,600 6.
RER(BE)-E) | RRCEE R | J 600 | 7
500 | 7
900 7
900 7
FEIES 300 7 % X
.700 7 75% ,600
,100 73% 74% ,700, +:11.600, H:14,500
,100 73% 74% ,700, +:11,600, H:14.500

JAL



[R——%GIEERCAI~9BEES)

EEBEAB 2016/09/06
3/1-9
A—IN—%15
=40]
= BEREH [E—7W
BRE | piziw | maiE ] il
R CHE) =K% R CHE) & 3500 | 66% 68% 3.800, H:11.300
4200 | 64% 67% 4500, £:14.600. £:15.000, H:12.700
1200 | 67% 69% 3.400, H:12.500
900 | 70% 72% 2200, £:13.200. B
500 | 69% 71% |%:14.200. H:14.300
500 | 69% 71% |%:15.200. H:15.000
KH% 300 | 72% 73%
300 | 72% 73%
500 | 69% 7%
500 | 69% 7%
400 | 64% 66%
400 | 64% 66%
FR(CRE) =R HRPE)R [ J .200 70% 7%
700 | 66% 68%
500 | 7 73%
500 | 7 73%
500 | 7 73%
500 | 7 73%
R 500 | 7 73%
500 | 7 73%
700 | 7 72%
500 | 69% 1% 0
500 | 69% 71% | X:16.200. %:15.900. +:13.800. H:17.000
L 400 | 67% 69% .900, £:13.100. H:16.600
RRCHE) =& RRCHE) R [ J 1200 | 70% 72% .200, £:13.300. H:10.600
700 | 67% 69% 11,700, £:15.000
100 | 66% 68% .300, £:15.000. H:13.000
100 | 68% 70% 800, H:12.300
100 | 68% 70% 800, H:12.300
500 | 70% 7%
.300 | 68% 6%
700 | 69% 7%
AR 200 | 68% 70% |+
500 | 65% 67%
400 | 70% 72% X 512,
100 | 73% 75% 2200, H:12.500
100 | 73% 75% |2+:12.200. H:12.500
800 | 69% 1% X
800 | 69% 1% 500, B:15.700
400 | 70% 72% 500, H:15.000
FR(CRR)=215 RRPE)F [ J .900 69% 70% 12,
900 | 69% 70%
200 | 68% 70%
100 | 73% 75% 2.900
200 | 68% 70% 3:14.600
400 | 67% 69% |2
e 100 | 68% 70% | B
200 | 68% 70% | &
000 | 71% 72% |2
500 | 70% 7% _|A:
500 | 70% 71% |£:13.400. £:12.800. H:14.900
200 | 68% 70% _|£:14.000. £:12.500, B:15.000
ERCPE)-ERS RERCRE) % .800 73% 74% |t
300 | 69% 7%
000 | 68% 70%
800 | 7 74%
800 | 7 4%
400 | 7 75%
400 | 7 75%
400 | 7 75%
BERER 300 | 7 73%
300 | 7 73%
500 | 7 73%
300 | 7 73%
200 | 70% 7%
400 | 69% 7%
000 | 68% 70% [+
000 | 70% 72%
KR (FFH=L& KR (75 % .800 66% 68%
100 | 62% 65%
300 | 62% 64%
300 | 62% 64%
.800 | 60% 63% :
400 | 55% 58% , £:12,400, B:16.900
000 | 57% 59% 900, 12,400, H:15,900
&% 400 | 64% 66% | +:14.600
100 | 59% 62% 600
400 | 58% 61% ,000, H:14,700
800 | 57% 60% 200
800 | 54% 57% 200
600 | 61% 63% |2:17.300, £:14,600, H:16.900
L. 800 | 66% 68% |2:16900, £:12,400, H:15400
KR (FFH =378 KR (753 5 [ L ,100 60% 63% 13,700, +:14,600, H:12,800
100 | 60% 3 +:14,600, H:12.800
700 | 58% 1 14,600, +:14,200, H:14,700
900 | 54% 7 :16.100, +:13,700
FEs 100 | 54% 7 :14,200
700 | 58% 1 £:15.100, H:14,600
800 | 61% 3% :15,600, H:14.600
800 | 61% 63% 4,600, £:15,600. £:12.300
PN ACIS ) PN AGIES ,800 50% 55% 3,300, H:11,300
500 | 51% 56% |4t H:12.700
800 | 50% 55% |%:12,700, H:13,.300
A5 500 | 51% 56% | H:11,800, £:12,700, £:12,300
400 | 43% 49% :14,000
700 | 41% 47% :13,300, £:11.800

JAL



[R—\—5%1B 1 BER(BAI10~16BHEES)

EEBEAB 2016/09/06
=
=45 B4 | AR e
BB ERE B3R W&
HRCRBR)=XR () | RRCAE) R .000 0.500, H:8.900
.000 0.500. H:9.700
000 | 57% |A%:12600.
000 | 60% |A%:12.500.
000 | 60% |A%:12.000.
700 | 61% |A%:11.800. .600, H:9.700
700 | 61% |A%:11.200. .200, 8:9.700
700 65% | A2:10.200
700 65% | A2:10.200
100 | 60% |A%:11.500. 00, H:9.700
700 | 58% |A%:12.500, £:9.700. B
700 | 58% |A%:12.500, £:9.700. B
700 | 58% |A%:13.400. £:9.700. B
700 | 58% [& 700, B
700 | 58% |4
KB (P % | J 71.700 72%
700 | 58%
700 | 58%
700 | 58%
000 | 60%
500 | 62%
.000
.000
.000
.000
.000 +:9
.000
000
000 7
000 7
FRCRE)=HIR G TmR)| RRCHE) % |_J .700 1 P
700 | 71% [
700 | 71
700 | 68% |A:
700 | 68% |A:
100 | 67% [A:
600 | 66% [
700 | 68% |A:
200 | 69% [A:
100 | 72% [&:
100 | 72% [&:
100 | 67% k¢
900 | 68%
900 | 68%
200 | 64%
200 | 64%
500 | 69%
LR (BT F 3% 5 .100 65%
500 | 61%
800 | 63%
900 | 65%
1400 | 69%
100 | 72%
100 | 72%
700 | 71%
500 | 66%
500 | 66%
200 | 64%
200 | 64%
1200 | 64%
400 | 66%
100 |67
100 |72
100 |72
FRCRE) =18 ERCPE)F | J -300 14
000 | 70%
800 | 61%
100 | 58%
100 | 58%
100 | 61%
000 | 66%
500 | 71
500 | 71
300 |74
900 | 73
500 | 69
600 | 69%
500 | 64%
000 | 66%
000 | 66%
500 | 62%
EEEES 500 67%
000 | 66%
000 | 66%
.300 |63
700 |64
800 | 71
300 |74
300 | 74
900 | 73
000 |68
,000 | 66%
400 | 65% |4 200, H:18.500
500 600, H:18,500
,000
,000
,400
500 1
RECRE) =44 (BH) | RRCHE) R |_J .600 65%
.000 | 60%
.000 | 60%
000 | 60%
400 | 64
7400 | 64% |K ,800. H:16,600
,900 | 7
,900 | 7
,900 | 7
,900 | 7
,900 | 7 £:21,300, £H:17,700
,900 | 7 £:24,300, B:19.700
SPHE (B % | Y ,900 | 7 #:16.400, H:15,600
,900 | 7
,900 | 7
,900 | 7
,900 | 7
000 | 65%
7.000 | 65%
.000 | 60%
.000 | 60%
.000 | 60%
400 | 64%
600 | 65%
RRCRE) =R ERCRE)FE | J .600 73%
,500 73%
900 | 74%
900 | 74%
JEIIES ,300 | 74% X
700 | 75% 500
100 | 74% ,700. 11,600, H:14,500
100 | 74% 700, £:11.600. H:14,500

JAL



[R—\—5%1B 1 BER(BAI10~16BHEES)

EEBEAB 2016/09/06
3/10-16
=40] e A—N—%FT
B
EIEIES
HR(CRE) =R RRPE)F [ J 400 69%
700 | 68%
700 | 70%
700 | 70%
700 | 70%
700 | 70%
RA%E 700 | 70%
700 | 70%
700 | 70%
400 | 69%
400 | 69%
600 | 68%
R (CRE) =R HRPE)R [ J .400 69%
500 |67
500 7
200 7
200 7
700 | 69%
300 | 69%
700 | 69%
AR 400 |67
500 |67
400 | 72
700 | 73
700 | 73
700 | 69%
400 | 69%
400 | 72%
FRCRE)=215 RRPE)F [ J .700 69%
700 | 69%
400 | 67
1700 |73
200 7
200 7
B .200 7
200 |67
.200 0%
700 | 69%
700 | 69% &
400 | 67% |%:15500. £:13.700, H:16.300
RR(PE)=ERE | ®RRCAE)E .200 71% | +:14.200
200 | 69% |&+£:15.700,
200 | 69% 15700,
600 | 7 14400, H:13.600
600 | 7 800, +:13.700
100 | 7
100 | 7
700 | 70% 515
ERBR 100 | 72% 700 £:14.500
100 | 72% .900. £:14.500
700 | 70% 200 £:14.400
700 | 70% 200
200 | 71% 14.200. :12.800
200 | 69% |%:15.100. %:13.700. B:15.
500 | 69% |2:15.100. £:13.700
.900 | 70% 900 £:11.500
KR (FFH=L& KB (FH % | J .800 68% .400
100 | 65% 500, H:12.300
300 | 64% 200,
300 | 64% 7200,
800 | 63% 1700 £:12.400.
400 | 58% .900. £:12.400
000 | 59% .900. £:12.400. H:15.900
[T 400 | 66% |+:14.600
100 | 62% 600
400 | 61% 000, H:14.700
800 | 60% 00
800 | 57%
600 | 63%
800 | 68%
KR (FFH) =818 KB (75 % .100 3
100 3
700 1
,900 7
FRE 100 7 :14,200
700 1 £:15.100, H:14.600
800 3 15,600, H:14,600
,800 3 :14,600, £:15,600,
KR (FFH) =K% KB (75 % 800 55% =Y
500 | 56% |2t H:12,700
,800 55% :12,700, H:13,300
RA% 500 | 56% | H:11,800, £:12,700, £:12,300
400 | 49% 14,000
,700 47% 13,300, £:11,800

JAL



[R—/R—%GEEXR(BA21~25BEEN)
EE#EMAB : 2016/09/06

3/21-25
FH =%
E40] B4 | A TS o
BR B B3R %5
HRCRBR)=XR () | RRCAE) R .000 60%
000 | 60%
.00 | 53% | A%:13.500. 600
000 7% | A2:13.400, 00
000 7% |A2:12.900. 00
800 7% | A%:12.900, £:11,600
800 7% | A:12.300, %:12,300.
600 | 62% |A:11.200, 2:11.200
600 | 62% |A:11.200, 2:11.200
100 | 56% |k
700 E3
700 x2
700 *x:
700 A:14.300, %:14.300,
700 | ¢ A:14.300, %:14.300,
KR (AR | _J 500 | 69% |+:10.200
700 200
700 200
700 200
000 000
600 | 58%
000 | 60% [£:11.000
000 | 60% |7k:10.700. A:10.700. £:10.600
1000 | 60% | /KA:10.700. £:10200
.000 | 60% |7K:10.700, :10.700. £:10.200
100

RECPE)=ALIR G Fik)| RRCAE) [ J

LIR B FiR) 5

3 00,
.800, A:14.400.
00,

70% | %:15.400

FRCRE) =18 ERCPE)F | J 75% :11.600, +:14.200
71% _|£:13.100. £:15.700
56%
53%
53%
56%
61%
69%
70%
70%
69%
7
1 4
100
7.100
7.100
7,200
E RS .700
200 3 .
200 3 200
,300 | 58% 200, +:17,200
800 | 59% 200, £:17.900
600 | 64% [ %:16.200
,000 | 70%
,000 | 70%
,000 | 70%
600
100 7
22 100 E;
L324 200 E;
26 200 % |4
328 7,200 % |4
L330 200 | 65%
1332 | 000 | 70%
R CRE) =R FR CRE) $ |_JL551 600 73%
500 | 7
900 | 7 P
900 | 7 4
FEIES ,300 7 £:12,600
700 | 75%
,300 | 71% |2
300 | 71% [&
RR(RE)=-RIK ERCRE)FE | J .400 67% |
800 | 66% [&
700 | 68% [
700 | 68% [/
700 | 68% [/
700 | 68% [/
R 700 | 68% |k
700 | 68% [/
700 | 68% [/
300 | 67% |&
300 | 67% |2
700 | 66% [
RR(DE)-RA | RRCHE)%E [ J 400 | 67% |
900 | 64% [/
100 | 63% |2
400 | 65% |X:16.100, %:15,800. £:16.300
400 | 65% |X:16.100, £:15,800, £:16.300
700 | 66% [:X:16.800
800 | 66% |#:15400, £:13.700
700 66% [:X:16.300, £:17.400
AR 400 | 65% | X:16,800. £:16.400
.800 61% K:16.100, £:16,300
700 | 69% [#+:14.300
000 | 70% [#£+:14300
,000 | 70% 14,300
700 66% 6,100, 15,900
700 | 66% 7,200

700 69% 7.200




[R—I\—5%1BBER(BA21~25BHEES)

EE®AE ;- 2016/09/06
3/21-25
R — Z—R—%H
SBRE BIEE %5
RRCRB)=2H RECRE) % 100 65%
100 | 65%
400 | 65%
000 | 70%
400 | 65%
700 | 64%
S .800 61%
400 | 65% +15.900, £:16.500
200 | 67% :
700 | 66%
700 | 66%
400 | 65%
KB (FFD) =318 KR (75 % .:gg Es‘hf
700 114600, £:14.200
.900 116.100, +£:13.700
HBR 100
700 £ £:15.100
800 | 63% |%:15.600
800 | 63% |2:15600. £:12.300

JAL
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2016/09/06

[R—N—%FGIEERGBA1T~20BEFES)

=40]
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A—r\—5it

A48
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ERE

R CRE)=MEX
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AR
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R CRE) =58

RRCAE)F [ J

800

800
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500

.300

.800

.600

.700

.500

.300

.000

500

500

RR(PE)-ERS

R CRE) #

300

900

~lele =~

700

.500

.300

.900

.900

.900

ERBR

.900

.900

.800

.300

.300

.300

.800

.300

KR (D =HlE

KR (R F | J

.400

200

200

ERE

200
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S RBIEER(11A20~22BERES)

EEBEAB 2016/09/06
11/20-22
FH =7
= B | WAM - DLPSRR
| ERE | no2 E
HRCRBR)=XR () | RRCAE) R 9.800 1 0.300, H:8.500
9.800 1 0,300, H:9.300
700 4% | A%:12.300,
.800 T% | A%:12.200,
800 T% | A%:11.700, N
300 | 59% | A% +:11.300. H:9.300
700 73%
.300 63% | A2::0.800
300 63% | A2:0.800
700 | 58% 1000, %:
400 | 55% 1200,
400 | 55% 1200, 7
400 | 55% 1200, 7
400 | 55%
400 | 55%
KB (FH $ | JL 7 7.400 7%
7 400 | 55%
7 400 | 55%
7 400 | 55%
7 800 | 57%
7 100 | 60%
7 800 61% [ H:9.300. £:10.100
7 .800 61% | H:9.300, /K:0.400, A:9.400. £:9.300
7 700 73% |
7 600 62% 300, £:9.300
7 800 1 500, +:8.800
7 800 1 1500, £:8.800
7 11.700 1500, £:9.300
7 11.700 1500, %:12.900. £:9.300
7 6.700
B (FW) =8 HE(HA) F |_JL 7 .000 7 A:10.400, £:10.100, £:
7 500 | 7 A:10.900.
7 .900 115.900, &
7 .000 1 117000, +:14.700
7 .000 1
7 200 3
7 1200 | 68%
7 100 | 7 K
7 000 | 7 7
7 000 | 76% |&:
7 600 | 74% |%:14.
7 000 | 71% |/KZA:11.400,
7 100 | 71% |2:16.300. H:14.600
7 000 | 66% |/K7k:13.200. %:17.900, £:12.100. H:15.200
7 200 | 68% 7.900. :11.100 0
7 200 | 68%
7 000 | 64% | kA 00
FES 7 000 | 68% | kA
7 200 | 68%
7 1200 | 68% |B:10.
7 800 | 64% |/KA:14.200. %:15.700, £:15.300. H:11.100
7 900 | 66% |%: :
L. 7 400 | 70% | kA
L. 7 000 | 76% %
L. 7 000 | 76% |4
L. 7 400 | 75% | kA 00,
L. 7 400 | 70% :13.200. H:14.900
1320 | 7 200 | 68% 12,500
[ U322 |7 .900 | 66%
324 |7 200 | 65%
[ JL326 | 7 200 | 65%
1328 |7 200 | 65%
1330 | 7 700 | 69%
1332 | 7 .000 | 76%
FRCRE) =1 (%) | RE(HE)F [ _JLO 7 .600 68%
[ U991 |7 .000 7
[ JL903 | 7 .700
[ JL905 | 7 .700
[ JL907 | 7 .700
L909 | 7 300 2
37 300 7 2
5 |7 300
717 300 | 7
L919 |7 300 | 7
[ U921 |7 300 | 7
[ JL923 [ 7 ,300 7 H:14,800, :18,200
925 | 7 ,300 7. H:16,700, :22,200
S8 (ARER) 3 |_JL900 | 7 300 | 73% |%+£:13.500, H:13,700
[ JL902 | 7 300 | 7
[ JL996 | 7 300 | 7
[ JL904 | 7 300 | 7
[ JL906 | 7 300 | 7
L908 | 7 300 | 7
L 7 ,900
L 7 ,900 7
L 7 700
L 7 700
L 7 700
[ JL920 |7 300
922 | 7 600 | 68
R CRE) =R FR(CRE)$|_JL551 | 7 .000 75%
[ JL553 | 7 900 | 75% |A:
[ LS55 | 7 500 | 76% | B
557 | 7 500 | 76% |B
FEIES 552 | 7 800 | 76% |+
[ JLs54 | 7 300 | 77% |E
[ JL556 | 7 100 | 75% [A:
558 | 7 100 | 75% |4
R CRE) =4t A RERCPE) % L371 | 7 .100 75% |7KA
373 | 7 000 | 66% |7
1375 | 7 700 | 67% |
1377 | 7 200 | 63% KA 00, H:15,400
1379 |7 200 | 63% KA 700, H:15,400
AN 1370 | 7 900 | 71% KA .700
1372 | 7 4,700 | _64% KA .700
1374 | 7 200 | 68% | kA 700, H:12.900
L376 | 7 900 | 66% | KA 4
1378 | 7 700 | 72% KA
RR(CRE)=K%9 RRCRE) % |_JL66 7 .500 69% |7t
[ JL663 | 7 700 | 66% |4
[ JL665 | 7 200
[ JLe67 | 7 400 | 71% [A:
[ JL669 | 7 800 | _70% |4
671 | 7 800 | _70% |4
KA%E | _JLe62 | 7 000 | 72% [
[ JL664 | 7 000 | 72% |4
[ JL668 | 7 200 | 69%
670 | 7 200 | 69%
672 | 7 300 | 64%
674 | 7 700 | 66%
RR(RE)=-RIK BRCRE) $|_JL605 | 7 ,200 12%
[ JL607 | 7 400 | 69%
[ JL609 | 7 400 | 72%
L611 | 7 400 | 7 7
613 | 7 500 | 7
615 | 7 500 | 7
RUW55% | _JL606 | 7 ,500 7
L608 | 7 500 | 7
L 7 500 | 7 112,400, £:12.200. H:12.900
L 7 000 | 70% 1
L 7 000 | 70% 500, H:15,600
L 7 200 | 72%

JAL



S RBIEER(11A20~22BERES)

EEEAR : 2016/09/06

11/20-22

FH =%7E
INFSEE
=40] Ba | A EEW

B| BEE ) mpix

.200 73% £:10.100, *E:
:11.600, *F:
<7}
X )
.400 70% Vi

R CRE)=MEX RECPE) R

000 | 71% [AA]

AR

R CRE) =58 RRECPE) R | JU

:12.400, +:13,000, B:

1 H:11.200
.700. £:12.400. +:12.200. H:14.000

.400, £:11.900. .500

.000, £:11.500.

RR(PE)=ERE | ®RRCAA) R

ERBR JL

t:12.200

12,200, £:11.700
13,500, £:12.200
700, £:12,
,700, £:10.900.
.400, £:10.600.
.400

t:14.300. H:12.400

ARG FE | KR ER R [ L2

15,700, £:13.400

:13.800

+:14.700, H:13.800
:15.200, +:12.400., H:14.300
.500 62% :14.300. £:15.200. £:12.100

HRR

] Y Y Y Y Y Y Y Y Y Y Y Y ) Y )Y Y Y YY) Y Y Y ) ) Y ) Y ) ) ) Y )
ol
S|
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TYIILNSEBIEER(11H24~1281B8 %)

EEEAR : 2016/09/06

11/24-12/1
B B4 IIRSEE
s
HRCRBR)=XR () | RRCAE) R 1 0.300, H:8.500
1 0,300, H:9.300
700 4% | A%:12.300,
.800 T% | A%:12.200,
800 T% | A%:11.700,
300 | 59% |A%+:11.300. B
700 73% | H:10.300. %:10.300, K:10.300
300 63% | A2::9.800
300 63% | A2::9.800
700 | 58% B
400 | 55%
400 | 55%
400 | 55%
400 | 55%
400 | 55%
KB (FH $ | JL 7 7.400 7%
7 400 | 55%
7 400 | 55%
7 400 | 55%
7 800 | 57%
7 100 | 60%
7 800 61% [ H:9.300. £:10.100
7 .800 61% | H:9.300, /K:0.400, A:9.400. £:9.300
7 700 73% |
7 600 62% 300, £:9.300
7 800 1 :11.500, 1:8.800
7 800 1 :11.500, +:8.800
7 11.700 1500, £:9.300
7 11.700 1500, %:12.900. £:9.300
7 6.700
R CRE) =18/ HR(PE)F [ JL 7 .000 7
7 500 | 7
7 .900
7 .000 1
7 .000 1
7 200 3
7 200 | 68% |&
7 100 | 7 7
7 000 | 7
7 000 | 7
7 600 | 7
7 000 | 71
7 100 | 71
7 000 | 66%
7 200 | 68%
7 200 | _68%
7 000 | _64%
FES 7 000 | 68% |7
7 200 | 68%
7 200 | 68%
7 800 | 64%
7 900 | 66%
L. 7 400 | 70%
L. 7 000 | 76%
L. 7 000 | 76%
L. 7 400 | 75%
L. 7 400 | 70%
[ JL320 | 7 200 | _68%
[ U322 |7 900 | 66%
324 |7 200 | 65%
[ JL326 | 7 200 | 65%
[ JL328 |7 200 | 65%
1330 | 7 700 | 69%
1332 | 7 1.000 | 73%
FRCRE) =/ (%) | RR(HE)F [ _JLool [ 7 .600 68%
[ U991 |7 .000 7
[ JL903 | 7 .700 &
[ JL905 | 7 .700 &
[ JL907 | 7 .700 &
[ JL909 | 7 300 &
37 300 ES
5 |7 300 &
717 300 | 7 K.
L919 |7 300 | 7 LS
[ U921 |7 300 | 7 £:9,700
[ U923 |7 300 | 7 £:18,200, H:15.800
925 | 7 ,300 7. 7K:9.700, #:22,200, H:17.700
S8 (ARER) 3 |_JL900 | 7 300 | 7 £ F:14500, F:13,700
[ JL902 | 7 300 | 7 £:9,700
[ JL996 | 7 300 | 7 &:9,700
[ JL904 | 7 300 | 7 £:9,700
[ JL906 | 7 300 | 7 £:9,700
[ JL908 | 7 300 | 7
L 7 ,900
L 7 ,900 7
L 7 700
L 7 700
L 7 700
[ JL920 |7 300
922 | 7 600 | 68
R CRE) =R FR(CRE)$|_JL551 | 7 000 75%
[ JL553 | 7 900 | 75%
[ LS55 | 7 500 | 76%
557 | 7 500 | 76%
785 | _JL552 | 7 800 | 76%
[ JLs54 | 7 300 | 77%
[ JL556 | 7 100 | 75%
558 | 7 100 | 75%
RE(CRE)=K5 RRCPE) $|_JL66l | 7 500 69%
[ JL663 | 7 700 | _66%
[ JL665 | 7 200 | 69%
[ JL667 | 7 400 | 71%
[ JL669 | 7 800 | 70%
671 | 7 800 | 70%
KA%E | _JLe62 | 7 000 | 72%
[ JL664 | 7 000 | _72%
[ JL668 | 7 200 | 69%
670 | 7 200 | 69%
672 | 7 300 | _64%
674 | 7 700 | _66%
R (AE)-RB FR (FH) % [ _JL605 [ 7 200 | 72%
[ JL607 | 7 400 | 69%
[ JL609 | 7 500 | 7
L611 | 7 500 A:
613 | 7 500 B
615 | 7 500 B
RUW55% | _JL606 | 7 ,500 &
[ JL608 | 7 500 :
L 7 500 A:
L 7 000 %:
L 7 ,000 E
L 7 200 E
RRCHE)=feA FR (FH) % [ _JL623 [ 7 200 E
[ JL625 | 7 700 ER
[ U627 | 7 400 J
[ U629 | 7 400 J
631 | 7 400 J
[ JL633 | 7 500 %:
637 | 7 400 E
639 | 7 ,000
feA% U622 [ 7 200
[ JL624 | 7 100
[ JL626 | 7 100
[ JL628 | 7 800
[ JL630 | 7 ,000
U632 | 7 100
[ JL63d | 7 100
L638 | 7 600




TYILRSEBIEER(11A24~12B1ARES) JAL

EEBEAB 2016/09/06
T1/24-12/1
FH =i7E
=40} % | mam IIESEF
BB B
HR(CRE)=215 RERCPE) % .000
000
200
500
200
400
S .100
200
.000
500 . . 200 H:14.000
500 | 72% 400, £:11.900, H:14.000
1200 | 70% 000, £:11.500, H:14.000
R (PE) =R R (FE) R .000 75% |
500 | 71% +14.400, B:12.000
500 | 69% 3:12.000
7 400 | 74% 3200, H:12.200
7 400 | 7a% 00
7 000 | 75%
7 000 | _75%
7 000 | 75%
ERBR 7 -500 7 E
7 400 | 7
7 900 | 7
7 500 | 7
7 500 |71
7 000 | 70% [k
7 200 | 70%
L 7 200 | 72%
KR () =318 KB (FH % | J 7 .400 62%
7 400 | 62% |
7 900 | 60%
7 100 | 57% 15200, £:12.900
HRR 7 300 | 56% |H:13400
7 900 | 60% |%+:14.300. H:13.800
7 100 | 63% |2:14.700. H:13.800
7 100 | 63% |H:13.800. £:14.700, £:11.600




5 %B I EER(12A2~158BFS)

EEEAR : 2016/09/06

v 12/2-15
o &% | mAm — IS 3]
BB ERE B3R W&
HRCRBR)=XR () | RRCAE) R 9.800 0.300, H:8.500
9.800 0,300, H:9.300
700 | 58%
800 | 61%
800 | 61%
300 | 63%
300 | 63%
300 66%
300 66%
700 | 61%
400 | 59%
400 | 59%
400 | 59%
400 | 59%
400 | 59%
KB (FH $ | JL 7 7.400 73%
7 400 | 50%
7 400 | 50%
7 400 | 50%
7 800 1
7 100 9,
7 800 :9.300. £:10.100
7 .800 :9.300. 7K:9.400, :9.400, £:9.300
7 800 £:9.300
7 800 :
7 .800 :11.500, +:8.800
7 800 :11.500, +:8.800
7 11700 | 58% |H:11.500. £:9.300
7 11,700 | 58% [H:11.500, £:12.900. £:9.300
7 11700 | 58% [H:11.500, %:12.900. £:9.300
B (FW) =8 HE(HA) F |_JL 7 9.800 78% +£:10.000
7 500 | 76% |+:11.500. H:10.100
7 500 | 69% | H:10.100
7 300 | 65% |£:16.300. £:15.200, H:10.500
7 500 | 67% | H:10.500
7 500 | 67% |&+£:15300.
7 700 | 71% |&+:14.500. B
7 1.000 | 75% |2:13.500. +:13.200
7 1,000 | 75% [&@+:12,500. 00
7 600 78% |%:12.500. £ H:10.500
7 100 |77 12,500, :10.500
7 500 | 76% | AK:11.500. % H:13.500
7 500 | 76% | K:11.500. % H:13.500
7 500 | 76% | K& H:13.500
7 500 | 76% | A:12.700. £ H:13.500
7 500 | 76% | A:12.700. £ H:13.500
7 500 | 76% | AZ H:13.500
BER 7 500 :10.000
7 500 500, H:9.600
7 500 500, H:9.600
7 500
7 500 10,
L. 7 500 | 76% |&t
L. 7 9.800 78% |t
L. 7 9.600 78% £
L. 7 1400 | 76% )
L. 7 900 |73 500, £:12.700
1320 | 7 500 |71 500, £:12.100
[ L322 |7 500 | 7
324 |7 500 | 7
[ JL326 | 7 500 | 7
1328 |7 500 | 7
1330 | 7 100 | 7
1332 | 7 500 |76
FRCRE) =/ (%) | RR(HE)F [ _JLool [ 7 .200 75%
[ JLooi |7 500 |74
[ JLoo3 [ 7 000 | 7
[ JLoos | 7 000
[ JLoo7 | 7 000 | 7
L909 | 7 800 | 73% [& 00, H:12.200
3|7 800 | 73% [& 500, H:12.200
5 |7 700 8
77 700 80%
L919 |7 700 80%
[ JLo21 [ 7 700 80%
[ JL923 [ 7 700 80% |£:16,700, H:13400
925 |7 700 80% |#:20,700, H:15.300
R (BN E) 5 |_JL900 | 7 700 80% | +:12,700, H:12,200
[ JLeo2 | 7 700 80%
| JL996 | 7 700 80%
[ JLoo4 | 7 700 80%
[ JLo06 | 7 700 80%
L908 | 7 700 80%
L 7 ,400 74
L 7 ,400 74
L 7 000 | 7
L 7 000 | 7
L 7 000 | 7
| JL920 [ 7 ,800 7
922 | 7 ,200 75
R CRE) =R FR(CRE)$|_JL551 | 7 .000 76%
| JL553 | 7 .900 77
[ _JL555 | 7 ,500 77
557 | 7 ,500 77
BNSE | _JLs52 | 7 ,800 77
[ _JL554 | 7 ,300 78%
| _JL556 | 7 100 75% |%
558 | 7 100 75% |%
RE(CRE)=K5 RRCPE) $|_JL66l | 7 .900 72% |7}
| JL663 | 7 ,000 72% |2
| JL665 | 7 .500 3% |% 00
| JL667 | 7 ,600 5% | Kt N .900, H:12,400
[ JL669 | 7 .500 73 E ,800, H:13,800
671 7 .500 73 E ,300, H:13.800
KH% | _JL662 | 7 9,700 77" +:11,000
| JL664 | 7 9,700 77 Z£:11,000
| JL668 | 7 .500 7
670 | 7 .500 7
672 | 7 ,400 7 £:13,200, +:12,000, H:13.700
674 | 7 .600 7 #:12,200, :11,100,
R (FE)=-RB B CFIE) % |_JL605 | 7 ,500 75¢% ,500, £:12,700,
| JL607 | 7 .300 75% ,700, £:12,400, H:10,800
[ JL609 | 7 000 | 76% 700, F:12.400.
L611 7 .000 76% + H:13.800
613 | 7 .000 76% 1,700, £:11,200, H:12,200
615 | 7 .000 76% 1,700, £:11,200, H:13,800
R [ _JL606 | 7 ,000 76% |X:13,800, £:12,000
L608 | 7 ,700 77%  |§
Lf 7 9,400 80%
Lf 7 ,000 74%
L 7 000 | 74%_[%:
Lf 7 .500 75%
RRCHE)=feA RECRE) % |_JL623 |7 500 | 76% 2
| JL625 | 7 400 74%
| JL627 | 7 400 74%
[ JL629 | 7 .000 75%
631 7 .000 75%
| JL633 | 7 .500 74% i
637 | 7 ,400 76% 0,800, 1:9.600, H:11,700
639 | 7 .500 74% .700, £:12,300. H:13,800
feARsE | _JL622 | 7 500 74% 2,800
| JL624 | 7 ,200 72% 3,300, k:12,000, +:13.800
| JL626 | 7 9,600 8% 0,100, H:10,000
| JL628 | 7 9.100 79% 0,100, H:10.300
| JL630 | 7 9.100 79% + H:10.600
| JL632 | 7 10.800 75% :11,700, H:12.200
| JL634 | 7 10.600 76% 12,200
L638 | 7 9.600 8% 212,100, H:11,700




5 %B I EER(12A2~158BFS)

EEBEAB 2016/09/06
12/2-15
FH =%
=R B2 | mAm INESRT
BB e
HR(CRE)=215 RERCPE) % L687 11.500
L689 11.500
L691 11.700
L693 9.300
L695 500
L697 700
EE] L688 700
L690 000
L692 000
1694 500
L696 500
JL698 500
RECRE)=ER RRCRE)$|_JL641 .000
JL643 000
JL645 000 .
JL647 | 7 000 | _78% |2 +:11.400_H:10.700
9 |7 600 | 77% 800, + H:11,000
7 600 | _79% 800, £:10.600.
3 |7 600 | 79% 1400 £:10.000,
5 (7 500 | _75% 000
BRBRE | _JL 7 600 | 77% | X:13.800. & £:11.000
JL 7 400 | 77% [2:11.000, £:11.400
JL 7 500 | 75% 000,k H:13.800
JL 7 500 | 75%
7 400 | 77% 11,000, £:10.100
7 600 | 75% 12,000
7 000 | _74% |2:12.100. £:0.900. H:12.400
7 000 | 76% |2:11.600, £:9.100, H:11.900
KR () =1LE KB (FH % | J 7 .000 73%
7 400 | 66% 15.700. B
7 700 | _66% 16.400.
7 700 | 66% 16.400.
7 200 4 14,000, £ N
7 600 +17.000. £:11.800,
7 300 16,100, £:11.800, H:15.100
weas 7 .000
7 400 |6 £:13.900
7 700 |63 300 H:14,000
7 100 | _62% 400
7 100 | 59%
7 900 | _65% 3.900. H:16.100
7 200 | 70% 1.800. 00
KRB 5B | AR (% | J 7 400 | 65% 3,800, H:12.100
7 400 | 65% 3:12.100
7 900 | 63% 3.400, F:13.000
7 100 | 60% 900
FrE 7 300 | 59% .
7 900 | _63% £:14.300. H:13.800
7 100 | 65% 4.700. H:13.800
7 100 | 65%
KR (FFH) =K% KB (FH % | J 7 .300 57% X
7 000 | _59% |2+ H:12.100
7 300 | _57% [2:12.100, H:12.600
K% 7 000 | 59% [ H:11.200, £:12.100. £:11.700
7 800 | 51% 13,300
7 100 | 50% 12,600 £:11.200

JAL



IS %BIEER(12A16~21BIERSD)

EEEAR : 2016/09/06

v 12/16-21
B B | mam IIESEF
® | mmEm |20
i EES
HRCRBR)=XR () | RRCAE) R 9.800 64% |t
9.800 64% [T
700 | 58% .
800 | 61% |%:12.200, £:11.500,
800 | 61% | %:11.700, £:11.500.
300 | 63% % £:11.300,
300 | 63% [ %:10.800, 1:9.800. H:9.300
300 66% 0
300 66%
700 | 61%
400 | 50%
400 | 50%
400 | 50% .
400 | 50% 1200, %:12.900,
400 | 50% 1200, £:12.900.
R () 5 |_JL 7 7.400 73% 9
7 400 | 50%
7 400 | 50%
7 400 | 50%
7 800 1
7 100
7 800
7 800
7 800
7 800
7 800
7 800
7 11700 | 58%
7 11700 | 58%
7 11700 | 58%
R CRE) =18/ HR(PE)F [ JL 7 9.800 78%
7 500 | 76%
7 300 | 67% |& 15 ]
7 .300 | 65% |%:16.300. +:15.200. H:11,000
7 .300 | 65% |%:16.300. :15.200. H:11.000
7 500 | 67% |4 +:15.300. H:11.000
7 700 | 71% &%
7 1.000 | 75%
7 1.000 | 75%
7 9.600 78% . H:12,000
7 100 | 77% . F:13.200
7 500 | 74%
7 500 | _7a%
7 200 | 70%
7 700 1%
7 700 1%
7 000 | 66% |®:
BER 7 000 | 70% [+
7 700 1%
7 700 1%
7 700 | 66%
7 200 | 70%
L. 7 1.400 | 74%
L. 7 0300 | 76%
L. 7 9.600 78%
L. 7 400 | 76%
L. 7 900 | 73%
L32f 7 700 1%
[ L322 |7 900 | 70%
324 |7 .600 | 690%
[ JL326 | 7 .600 | 690%
1328 |7 .600 | 69%
1330 | 7 100 | 72%
1332 | 7 000 | 75%
FRCRE) =/ (%) | RR(HE)F [ _JLool [ 7 .200 75%
[ JLooi |7 500 |74
[ JLoo3 [ 7 000 | 7
[ JLoos | 7 000
[ JLoo7 | 7 000 | 7
L909 | 7 800 | 7
3|7 800 | 7
5 |7 700 8
77 700 80%
L919 |7 700 80%
| JLo21 | 7 ,700 80%
[ U923 |7 ,700 80% |%:14,400, H:13.400
925 | 7 700 80% |£:20,000, H:15,300
R (BN E) 5 |_JL900 | 7 700 80% | +:12,700, H:12,200
[ JLeo2 | 7 700 80%
| JL996 | 7 ,700 80%
[ JLoo4 | 7 700 80%
[ JLo06 | 7 700 80%
L908 | 7 700 80%
L 7 ,400 74
L 7 ,400 74
L 7 000 | 7
L 7 000 | 7
L 7 000 | 7
| JL920 | 7 800 7
922 | 7 ,200 75
R CRE) =R FR(CRE)$|_JL551 | 7 .000 76%
| JL553 | 7 ,900 77%
[ _JL555 | 7 ,300 78%
557 | 7 ,300 78%
BNSE | _JLs52 | 7 ,800 77%
[ _JL554 | 7 ,300 78%
| _JL556 | 7 100 75%
558 | 7 100 75%
RE(CRE)=K5 RRCPE) $|_JL66l | 7 .900 72%
| JL663 | 7 ,000 72%
| JL665 | 7 .500 73%
| JL667 | 7 ,600 75%
[ JL669 | 7 .500 73
671 7 .500 73
K% | _JLe62 | 7 9,700 77
| JL664 | 7 9,700 77
| JL668 | 7 .500 7
670 | 7 .500 7
672 | 7 ,400 7
674 | 7 .600 7
R (AE)-RB FR (FH) % [ _JL605 [ 7 500 | 758
| JL607 | 7 .300 75%
| JL609 | 7 .000 76%
L611 7 000 76%
613 | 7 .000 76%
615 | 7 .000 76%
RUW55% | _JL606 | 7 ,000 76%
L608 | 7 ,700 17%
Lf 7 9,400 80%
Lf 7 ,000 74%
L 7 000 | 74%
Lf 7 .500 75%
RRCHE)=feA FR (FH) % [ _JL623 [ 7 500 | 76%
| JL625 | 7 400 74%
| JL627 | 7 400 74%
[ JL629 | 7 .000 75%
631 7 .000 75% 0
| JL633 | 7 700 73% | x4 ,800, £:13.300
637 | 7 ,400 76% |% :9,600, H:11,700
639 | 7 ,300 72% |7t ,800, H:13.800
feARsE | _JL622 | 7 ,500 74% |7}
| JL624 | 7 ,800 1%
| JL626 | 7 9,600 8%
| JL628 | 7 9.100 79% A N
| JL630 | 7 9.100 79% + H:10.600
| JL632 | 7 10.800 75% :12,300, H:12.200
| JL634 | 7 10.600 76% :12,600, H:12.200
L638 | 7 9.600 8% 212,100, H:11,700




IS %BIEER(12A16~21BIERSD)

EEBEAB 2016/09/06
12/16-21
FH =i7m
B B | mam IIRSEE
BB %5
HR(CRE)=215 RERCPE) % L687 2.200
L689 2.200
L691 :13.800, £:12.200
L693 +:13.800,
L695 :13.800, *:
L697 :11.500, £:
e L688 11,500, F.12.300
L690 :11.600, £:12.000
L692
L694 +:11.500, H:12.300
L696 :12.300
JL698 :13.000, H:12.400
RECRE)=ER RRCRE)$|_JL641 1.500
JL643 2.400
JL645 . 2.400
JL647 | 7! .000 78% 1.400. H:10.700
9 | 7 .600 7% 3:11.000
117 .600 79% :13.800, +:10.600, H:11.500
3 | 7 600 79% :11.400, +:10,000, H:12.000
5 | 7 .500 75% :13.800, H:13.300
BERBR | _JL 7 600 | 77% 11,000
JL 7 .400 7% :11.000, +:11.400
JL 7 500 75% | £:11.700
JL 7 500 75%
7 .400 7% 11,000, £:10.100
7 .600 75% 12.000
7 .000 74% 112,100, H:12.400
7 .000 76% :11.600, +:9.100. H:11.900
KR () =1LE KB (FH % | J 7 .000 73%
7 400 66% t:15.700. B
7 700 66% 16.400,
7 700 66% 16.400,
7 .200 4 :14.000, *: N
7 .600 :17.000, +:11.800,
7 .300 :16.100, +:11.800, H:15.100
weas 7 .000
7 .400 6. £:13.900
7 .700 63 .300, H:14.000
7 100 62% .400
7 100 59%
7 .900 65% 3.900, H:16.100
7 200 70% 1.800. 00
AT PNAG A 7 200 | 65% 3.800. B:12.100
7 400 65% 3:12.100
7 .900 63% 3.400. H:13.900
7 100 60% .900
FER 7 300 | 59% ’
7 .900 63% t:14.300. H:13.800
7 100 65% 4.700. H:13.800
7 100 65%
KR (FFH) =K% KB (FH % | J 7 .300 57% X
7 .000 59% 1+ H:12.100
7 .300 57% 112,100, H:12.600
P 7 .000 59% :11.200. £:12.100. £:11.700
7 .800 51% 13.300
7 100 50% 12,600, £:11.200
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IS RBIEER(12A22~29BEEH)

EEEAR : 2016/09/06

s 12/22 12/23 12/24 12/25 12/26 12/27 12/28 12/29
B PR T P B S T P ST ) Gy S T P ST =) Y S ) BT IS E )
HRCRBR)=XR () | RRCAE) R 9.800 .300 | 9.800 .300 .300 .300 |
9.800 300 |_9.800 700 300 300
300 [_9.800 .700 300 300
200 [_9.800 300 300 300
.700 [_9.800 700 700 700
300 | 1 1 [_9.800 700 700
800 | ¢ ¢ [_9.800 .700 700
9800 | ¢ [ |_9.800 700 700
9800 | ¢ [ o 700
000 | ¢ [« [ o [_10.300
200 | ¢ [« ¢ [_9.900
200 | ¢ [« ¢ [_9.900
900 | ¢ [« ¢ [_9.900
900 | ¢ 300
900 | 9. 300
KB (FH $ | JL 7 7400 | 9. 1400
7 400 | o
7 400 | o
7 400 | o
7 800 | ¢
7 100 | 1C
7 800 1
7 400
7 400
7 400
7 800
7 800 | 8.
7 700 | o
7 700 | ¢
7 700 |
FR CRE)=4LIR (i Fi)| RRCHE) % |_JL 7 100
7 100
7 300
7 400
7 800
7 800
7 500
7 .000
7 9.600
7 9.600
7 300
7 500
7 500
7 300
7 300
7 700
#L1% (37 F %) _JL500 | 7 .100
["Jts02 | 7 500
[ JL504 | 7 100
[ JL506 | 7 600
L508 | 7 9.600
L 7 9.600
L 7 400
L 7 700
L 7 700
[ JL 7 300
[ JL520 | 7 300
[ 522 | 7 300
[ JL524 | 7 .600
[ JL526 | 7 1300
[ 528 | 7 800
530 | 7 9.600
RR(CRE) =18 FRCRE)$ | _JL303 | 7 .400
[ JL305 | 7 200
307 |7 300
309 [ 7 .900
7 .900
L313 |7 .900
L315 | 7 700
1317 |7 .900
1319 |7 .900
7 9.600
1323 |7 100
[ JL325 | 7 1500
327 | 17 .500
| JL329 [ 7 ,900
331 7 ,700
| JL333 | 7 700
335 | 7 ,900
M3 | _JL300 | 7 ,900
| JL302 |7 700
304 | 7 ,700
| JL306 | 7 ,900
L308 | 7! ,200
L. 7 900
L. 7 9,800
L 7 9,600
L. 7 800
L. 7 ,900
L32f 7 900
| U322 [ 7 ,200
324 | 7 ,600
| JL326 | 7 600
| JL328 | 7 600
1330 | 7 100
L33: 7 900
R CRE) =R FR(CRE) % |_JL55 7 .000
[ JL553 | 7 ,900
| JL555 | 7 500
557 | 7 ,500
7BJI%E [ _JL552 |7 .800
| JL554 | 7 ,300
| JL556 | 7 700
558 | 7 700
RR(CRE)=K%9 RRCPE) $|_JL661 | 7 .900
| JL663 | 7 ,000
| JL665 | 7 4,500
| JL667 | 7 1,000
| JL669 | 7 4,700
671 7 4,700
Ko | JL662 | 7 9,700
| JL664 | 7 700
| JL668 | 7 ,500
670 | 7 ,500
672 | 7 ,900
674 | 7 .900
RR(RE)=-RIK BRCRE) $|_JL605 | 7 .500
| JL607 | 7 .300
| JL609 | 7 ,000
L611 7 .000
613 | 7 .000
615 | 7 .000
g [ JLeos [7 .000
L608 | 7 ,700
Lf 7 ,400
Lf 7 12,000
L 7 12,000
Lf 7 12,200
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RRERCPE) & | JU

EELEES

R CRE) =R
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ILNSEFIEER(1A1~6BERS)

EEBEAB 2016/09/06
o /1 /2 /3 /4 /5 /6
) Ba | mads (2SRRI DLSER DS KB SIS ER[ DS KR DS RS
BB ERE ERE B e e e

HRCRBR)=XR () | RRCAE) R 400 | ¢ 9.800
400 9,800
400 700
400 800
400 800
400 300
400 300
400 9.300
400 9,300
400 | o, 700
400 | ¢ 400
400 | ¢ 400
400 | ¢
400 | ¢
400

KR (A % |_JL 7.400 [

7.400 [
7.400 [
7.400 [
7.400 [
7.400 [
7.400 [ o
7.400 [ o
7.400 [ o
7.400 [ o
7.400 [ o
7.400
7.400

RECRE)=ALIE (3 Fi%)

RRCRE) | JL

L

FLIR (3 F %) $__JL500

R CRER) =18/

RRERCPE) & | JU
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RRECPE) R | JU
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EEEAR : 2016/09/06

o /1 /2 /3 /4 /5 /6
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BR B B B e e B

B (HE) A | RRCHE) R 500 | 8600 | 8600 700
100 100 | 9100 | 1 1 200
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100 200 200 800
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AR 10.300 000
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55" EER(IA10~16BEES)

EEBEAB 2016/09/06
1/10-16
FH =z7E
=R B2 | mAm - INESRT
| ERE | no2 [
R CAB)=XR () | RRCHHE) % 9.800 1 0.300, H:8.500
9.800 1 0300, H:9.300
700 4 :9.300, :12.300, £:12.300, £:11,500
800 T% | A%:12.200, 00, H:9.300
800 7% [ A%:11.700, :11,500, H:9.300
300 | 59% | A% +:11.300. H:9.300
300 | 59% |A2:10.800. £:9.800. H:9.300
300 63% |4
300 63% |4
700 | 58%
400 | 55%
400 | 55%
400 | 55%
400 | 55%
400 | 55%
KR (25 5 |_JL 7 7.400 1%
7 400 | 55%
7 400 | 55%
7 400 | 55%
7 800 | 57%
7 100 | 60%
7 800 % _|H:9.300, £:10.100
7 .800 % | H:9.300, 7K:9.400, £:9.400. £:9.300
7 .800 £:9.300
7 .800
7 .800 1500, +:8.800
7 800 1500, £:8.800
7 700 1500, £:9.300
7 700
7 700
RECRBE)=ALIR (3 Fi%)| RR(HE) & [ JL ; .:gg :
7 900 |71 800 14,700, H:9.500
7 400 | 70% | 00, H:9.500
7 800 | 69% |/
7 800 | 69% |/
7 900 |71
7 600 | 72% |
7 600 74% |2
7 600 74% K
7 300 | 70% | X:10.600. 7K:10.100
7 100 |73 :11.300, 7K:11.100
7 100 | 73% [H:11.300, ZK:11.100,
7 300 | 67% | X:9.900, /K:11.900. %:
7 300 PR
7 .700 4
FLIR (3 F %) $§_JL500 | 7 .200 Ei
[JLs02 | 7 300 4
[ JL504 | 7 800 4
[ JL506 | 7 000
L508 | 7 9.600
L 7 9.600
L 7 600
L 7 700
L 7 600
L 7 300 7 00, H:14.200
[ U520 | 7 300 7 300, H:14.200
[ U522 |7 300 7
[ JL524 | 7 600 |69 10, 00
[ JL526 | 7 300 | 70% 600, 7K:1 0
[ U528 | 7 800 | 71% | :9.400. 7K:10. 1800, £:9.600. H:12.400
530 | 7 9.600 74% 400
RR(CRE) =18 FRCRE)$ | _JL303 | 7 9.800 76% :10,
[ JL305 | 7 500 | 74% 100
307 | 7 500 | 70% | X:14.300. H:10.100
309 |7 300 | 63% .300. £:15.200. H:10.500
7 500 | 70%
313 | 7 500 | 70% |
L315 | 7 500 | 70%
317 | 7 000 | 73%
L319 |7 000 | 73%
7 9.600 77%
1323 |7 100 | 75%
[ JL325 | 7 500 | 7 P
327 |7 500 | 7 4
[ U329 |7 500 | 7 4
331 | 7 500 | 7 4
[ U333 |7 500 | 7 4
335 | 7 500 | 7 4
FES 300 | 7 500 | 7 4
[ JL302 | 7 500 | 7 4
304 | 7 500 | 7 4
[ JL306 | 7 500 | 70% |
L308 | 7 500 | 70% |
L. 7 500 | 74%
L. 7 9,800 76% :
L. 7 9,600 77% &£ H:10500
L. 7 400 | 75% 3500, £:12,500
L. 7 900 | 71% 3500, £:12,700
1320 [ 7 500 70% [:X:12,700, #H:13,500, £:12.100
[ U322 |7 500 | 7 pY
324 |7 500 | 7 pY
[ JL326 | 7 500 | 7 pY
[ U328 |7 500 | 7 pY
1330 | 7 100 | 7 E3
1332 | 7 500 | 7 X
R (HE) =98 (%) | R CHE) 5 [ JL901 [ 7 200 |73
[ U991 [ 7 500 | 73
[ JL903 [ 7 000 |69
[ JL905 | 7 000 | 69%
[ JL907 | 7 000 | 69%
L909 | 7 800 | 72%
L913 | 7 800 | 72% 500, H:12,200
L915 | 7 700 79%
L917 | 7 700 79%
L919 | 7 700 79%
[ U921 |7 700 79%
[ JL923 [ 7 700 79% |%:16.700, £ H:13,400
925 | 7 700 79% |£:20,700, H:15.300
SE (ANER) 3 |_JL900 | 7 700 79% |&+£:12.700
[ JL902 | 7 700 79%
[ JL99%6 | 7 700 79%
[ JL904 | 7 700 79%
[ JL906 | 7 700 79%
L908 | 7 700 79%
L 7 400 | 73%
L 7 400 | 73%
L 7 000 | 69%
L 7 000 | 69%
L 7 000 | 69%
[ JL920 | 7 800 | 72%
922 | 7 200 | 73%
RR (RE) =Rl FR (FH) % [ _JL5561 [ 7 000 | 75%
[ JL553 | 7 .900 | 75%
[ JL555 | 7 500 | 76%
557 | 7 500 | 76%
JEIIES 552 | 7 800 | 76% X
[ JLs54 | 7 300 | 77% ,000
[ JL556 | 7 300 | 74% |+:10,200. H:13,200
L558 | 7 300 | 74% |+:10,200. H:13,200
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55" EER(IA10~16BEES)

EEEAR : 2016/09/06

v T/10-16
=R B2 | mAm - — INESRT
BB ERE FHES &
R CHE) =K% R CHE) & 400 | 71% |7K:10.600. :11.500, H:9.700
000 | 70% |2:12.100. £:12.400
500 #:11.600, £:11.900
600 AE:11.000,
500 #:12.800, B:
500 £:12.800, A:
P 9700 | 76% [+:11.000
9.700 | 76% .000
500 1% 300
500 1% 300
400 | 69% 200
600 | 71% [#:12.000.
FR(CRE) =R R (PA)F [ JL 500 74% |+:12.700, B:10.
300 | 74% |#:12.700. £:12.400.
000 | 75% 700, £:11.900
7 000 | 75% 1700 £:11.900.
7 000 | 75% 700, E:11.200
7 000 | 75% 700, £:11.200. H:12.200
RBR 7 000 | _75%
7 700 | 75% |& £ H:11.000
7 9.400 78% |4+ B:11.000
7 000 | 75% |2:11.200. H:13.600
7 000 | 75% |%:11.200. H:13.600
7 500 | 7 112400, £:11,000. B:12.200
FR(CRE) =R RRPE)F [ J 7 .500 7 700, 6
7 000 | 7 200, B:9.100
7 000 | 7 £:11.200, B:10.200
7 000 | 7 T
7 000 | 7 T
7 500 | 7
7 400 | 75% [%:10.800. £:9.600, H:11.200
7 500 | 72% |H:11.700. £:12.300. H:13.300
AR 7 500 | 72% |k:12.800
7 200 | 70% |A 300, X 13,800
7 600 7% |4 100, H:10.000
7 100 78% |%+:10.100. H:10.300
7 100 78% |+ H:10.600
7 10.800 | 74% [ H:12.100. %:11.600
7 600 77% |%:11.600. H:11.200
L 7 600 77% | %:11.600, H:11.200
FR(CRR)=215 HR(PA)F [ JL 7 11.500 7 £:11.700
7 11500 | 7 700
7 11700 | 7 800 £:12.300, H:11.500
7 9.300 7 500
7 500 7
7 700 7
e 7 700 | 7
7 500 7
7 000 | 7
7 500 72!
7 500 | 72%
7 500 | 72%
ERCPE)-ERS RERCRE) % 7 000 75%
7 500 | 74%
7 500 | 74%
7 .000 | 77%
7 .600 | 76% |2 L H:11.000
7 9.600 78% | %:11.000. £:10.600. H:11.500
7 9.600 78% | %:11.400. £:10.000. H:12.000
7 500 | _74% | H:13.300
BRBR 7 600 | 76% |#£:11.000
7 400 | 76% |#£:11.000
7 500 :12.100
7 500 +11.700
7 400 11.000. £:10.100
7 600 11.000
7 000 :12.200, £:12.100. £:9.900. H:12.400
7 1400 :11.000, £:11.600. £:9.100. H:11.900
KR (FFH=L& KR (75 % 7 .000
7 400 £:15.700. B:11.700
7 700 £:16.400, B:14.700
7 700 £:16.400. 00
7 .200 2 :14.000. %:11.800. H:15.100
7 600 | 58% |2:17,000. £:11,800, B:16.100
7 ,300 59% :16,100, 1:11,800, H:15,100
ma% 7 000 | 71%
7 400 | 61% |#E:13,900
7 700 | 60% |%F:14,300. H:14,000
7 100 | 59% |%&+:15400
7 100 | 56% |%&+:15400
7 ,900 63% :16,400, 1:13,900, H:16,100
7 .200 68% :16,100, 1:11,800, H:14,600
PNACE i) BNACEEI 7 100 | 63% [#:12,700, +:13,500, H:11,900
7 100 | 63% |#%+:13,500, H:11,900
7 ,600 61% :13,500, 1:13,100, H:13,600
7 ,700 58% 14,900, £:12,600
iR 7 000 57% 113,100
7 ,600 61% +:14,000, H:13,500
7 900 | 63% [%:14,300, H:13,500
7 900 | 63% |H:13,500, £:14,300. £:11,300
KRR =K% KIR (B % 7 300 | 52% |#+:12,600, H:10,700
7 000 | 54% |2t H:12,100
7 300 | 52% [%:12,100, H:12.600
PE] 7 .000 | 54% | H:11,200, £:12,100, £:11,700
7 .800 45% 13,300
7 100 | _44% 12,600, £:11,200




S %BIEER(AIT~31BEES)

EEEAR : 2016/09/06

Py 1/17-31 -
= @2 |mim T DAETEE
| ERE | no2 [
T CRED =K (BF) | R CRE) % 9,800 1 0300, H:8.500
9.800 1 0.300, H:9.300
.700 4
.800 7
.800 7
300 59%
300 59%
300 63%
300 63%
700 58%
400 55%
400 55%
400 55%
400 55%
.400 55%
R (D% |_JLi02 |7 7400 | 71%
7 400 55%
7 400 55%
7 400 55%
7 800 57%
7 .100 60%
7 .800 % o}
7 .800 % :9.400. A:9.400. £:9.300
7 .800 £:9.300
7 .800
7 .800
7 800
7 .700
7 .700
7 .700
FR R H T )| Jom G % [ JLs01 [ 100 |7
7 .900 7 HAK 800, +:14.700. B:9.500
7 .400 70% | K7 00, H 0
7 .800 69% | K7
7 800 69%
7 900 7
7 600 72
7 600 74
7 600 74
7 300 70%
7 100 70%
7 100 70%
7 300 67
7 300 67
7 700 71
7L GBr ¥ %) 3_JLb00 | 7 200 | 67
| JL502 |7 300 65%
| JL504 |7 800 66%
| JL506 | 7 000 68%
L508 | 7 9.600 74%
L 7 9.600 74%
L 7 600 72%
L 7 .700 69%
L 7 .200 7
| JL 7 300 7
| JL520 | 7 300 7
| JL522 | 7 300 7
| JL524 | 7 600 69
| JL526 | 7 300 70% 00, . 00. H
| JL528 |7 800 1% .800, 1:9.600, H:12.400
530 [ 7 9.600 74% 0
BR (HE)-8M | SR CRE) % | JL303 | 7 9800 | 764 |4
| JL305 | 7 500 74% |2
307 [ 7 300 65% |71
309 [ 7 300 63% |4
117 300 63% |7}
L313 | 7 500 65% |7}
L315 | 7 700 69%
L317 | 7 1.000 73%
L319 | 7 1.000 73%
117 9.600 7%
L323 | 7 100 75% :
| JL325 | 7 500 72% |k
327 | 7 500 72% |7}
[ JL329 | 7 200 68% |7}
331 7 700 69% |7} 700, H:14,500
[ JL333 | 7 700 69% |7} :10,700, H:15,300
335 | 7 700 64% |7} ,100, £:11,200, H:15,300
B | _JL300 | 7 000 68% |7t
| JL302 |7 700 69% |7}
304 |7 700 69% |7K:
| JL306 | 7 700 64% |7}
L308 | 7 200 68% |7}
L. 7 1,400 72%
L. 7 9,800 76%
L. 7 9,600 7%
L. 7 400 75%
L. 7 900 1%
L32 7 700 69% |7}
[ JL322 | 7 900 69% |7}
324 | 7 600 67 7]
[ JL326 | 7 600 67 7]
L328 | 7: 600 67 7]
L33 7 ,100 7 E
L33: 7 .000 7
o CRIED) =5## (A8 | BUm (BB 3 | JLO0T |7 200 |7
| JL903 | 7 000 69
| JL905 | 7 000 69%
| JL907 | 7 000 69%
L909 | 7 800 72% |4
L913 | 7 800 72% | K ,500, H:12,200
L915 | 7: 700 79%
L917 | 7: 700 79%
L919 | 7: 700 79%
[ _JL921 7 700 79%
| JL923 [ 7 700 79% [£:16.700,  H:13,400
925 | 7! 700 79% |£:20,700, H:15,300
h#E (FRER) % |_JL900 | 7 700 79% |&+:12,700,
[ JL902 | 7 700 79%
[ JL904 | 7 700 79%
[ JL906 | 7 700 79%
L908 | 7: 700 79%
L 7 400 73%
L 7 400 73%
L 7 000 69%
L 7 000 69%
L 7 000 69%
| _JL92 7 800 72%
922 | 7! 200 73%
R CRED=RRJI | B CRIE)3E | Js1 | 7 000 | 75%
| JL553 | 7 900 75%
| JL555 | 7 500 76%
557 | 7 500 76%
FEIES | JLs52 | 7 800 76%
| JL554 | 7 300 77
| JL556 | 7 300 74
558 | 7! 300 74 200, H:13.200
WRCRE)-X7 | R CRE)3E | Jiee1 | 7 400 | 71 500, B:9.700
| JL663 | 7 000 70% 100, +:12.400
| JL665 | 7 500 7 ,600, +:11,900
| JL667 | 7 600 7 11,000, .900, H:12,400
| JL669 | 7 .500 7 ,800, H:13,300
671 7 .500 71% ,800, H:13.300
P | JL662 | 7 9.700 76% .000
| JL664 | 7 9.700 76% .000
| JL668 | 7 500 1%
670 | 7! .500 1%
672 | 7 ,400 69% [£:13200, +:12,000. H:13.700
L674 | 7: .600 71% [£:12.200, +:11.100. H:13.000




S %BIEER(AIT~31BEES)

EEEAR : 2016/09/06

o 1/17-31
=R B2 | mAm - — INESRT
BB ERE FHES W&
HR(CRE) =R RRPE)F [ J .500 74% |+ 00
300 | 7a% & 00,
000 | 75% 00,
000 | 75% 00,
000 | 75%
000 | 75%
RIS 000 | 75%
700 | 75%
9.400 78%
000 | 75%
000 | 75%
500
R (CRE) =R R (PA)F [ JL -ggg
.000 111700, %:11.200. H:10.200
7 000 | 7 112800, +£:11.200 00
7 000 | 7 112,800, +:11.200. H:10.600
7 500 | 7 000
7 1400 |75 110,800, £:9.600. H:11.200
7 500 | 72% |H:11.700. £:12.300, H:13.300
AR 7 500 | 72% 000, £:12.800
7 200 | 70% 3300, X:12.000. £:13.800
7 600 77% 0100, H:10.000
7 100 78% |%+:10.100. H:10.300
7 100 78%
7 10.800 | 74
7 600 77
L 7 600 77 :
FRCRE)=215 HR(PA)F [ JL 7 11.500 7 K:
7 11500 | 7 ok:
7 11700 | 72% [%:
7 9.300 7% &
7 500 | 7
7 700 | 7 J . 0. H
S 7 700 | 7 X:12.200. 7K H:11.500, £:12.300. £:13.300
7 500 | 72% |£:11.700. £:12.300
7 000 |7 1.200
7 500 | 72 £:11.700, H:13.300
7 500 | 72% [£:12.300. H:13.300
7 500 | 72% [#£:13.000, H:13.200
RER(AEB)=ERS HR(PE) R 7 000 75% | +:11.700
7 500 | 74% [E:11.700
7 500 | 74% |&£:11.900
7 000 | 77% |%:11.400. £:11.000, B:10.700
7 600 | 76% |%:13.800. £ H:11.000
7 9.600 78% 800, %:10.600. H:11.500
7 9.600 78% [ %:11.400. £:10.000. H:12.000
7 500 | 74% |H:13.300
BERER 7 600 | 76% [J:13.800. £ E:11.000
7 400 | 76% [£%:11.000
7 500 | 74% [:13.800
7 500 | 74%
7 400 | 76% 11.000, £:10.100
7 600 | 76% 11.000
7 000 |72 112,100, H:12.400
7 400 | 74 +11.600, £:9.100. H:11.900
KR (FFH=L& KB (75 % 7 .000 1
7 400 £:15.700. B:11.700
7 700
7 700
7 .200 2 g
7 600 | 58% |2:17.000. £:11.800
7 300 | 59% |%:16.100. E:11.800, B:15.100
&% 7 000 | 71%
7 400 | 61% £:13.900
7 700 | 60% 300, H:14.000
7 100 | 59% 400
7 100 | 56%
7 900 | 63%
7 200 | 68%
KR (FFH) =818 KB (75 % 7 100 63%
7 100 | 63% |&t:13.
7 600 | 61% |2:13500. F:13.100. H:13.600
7 700 | 58% 14,900, £:12,600
iR 7 000 57% 113,100
7 600 | 61% |%+:14,000, H:13,500
7 900 | 63% |%:14,300. H:13,500
7! .900 63% :13,500, £:14.300,
KR (FFH) =K% KB (75 % 7 300 52% £:12,
7 000 | 54% |2t H:12,100
7 300 | 52% |%:12,100. H:12.600
A5 7 .000 | 54% |H:11,200, £:12,100, £:11,700
7 800 | 45% 13,300
7 100 | 44% 12,600, £:11,200




TIUNSEFIEER CAI~5BERS)

EEBEAB 2016/09/06
2/1-5
FH =x7=
B B | mam IIRSEE
BB %5
HRCRBR)=XR () | RRCAE) R l
4
7"
7"
7" :
. 7 :9.300. 7k:10.300, 1:9.800
.300 3 A:9.800
800 1 300, K:
.700 58% 800, B
.400 55%
.400 55%
.400 55%
.400 55%
.400 55%
KB (FH $ | JL 7 7.400 7%
7 400 55%
7 400 55%
7 400 55%
7 .800 57%
7 100 60%
7 .800 61% :9.300, £:10.100
7 .300 63% :9.300. 7k:9.400. A:9.400. £:9.300
7 .300 63% 9.400
7 .300 63 . !
7 .800 1 .500, £:8.800
7 800 1 .500, £:8.800
7 .700 .500, £:9.300
7 .700 .500, £:12.900, £
7 .700 .500. £:12.900, F:
FR CRE)=4LIR (i Fi)| RRCHE) % |_JL 7 .100 7
7 100 7 7
7 100 7 7
7 100 68% | K:
7 .900 66% | K
7 .300 65% | K
7 .300 67% | K
7 900 68% | K:
7 200 0% | K:
7 .100 73% |&d
7 .100 73% |&d
7 .600 12% | K:
7 900 68% | K
7 900 68% | K:
7 200 70% |71
7 .200 70% |7KAK:12.900. 00, B
7 100 7 JKAK:11.300. :14.000. H:13.100
LWL (T FA) 54 JLs00 | 7 100 |7 2 1.13.600
[oLs02 [7 000 | 6
[JLs04 |7 500 | 6
| JL506 | 7 .600 66
| JL596 | 7 .200 70%
L508 | 7 100 7
L 7 .100 7 200, H:13.500
L 7 .400 7 X 400, £:12.200
L 7 .200 6 X
L 7 .200 67 X
| JL 7 900 68 K .900
| _JL52 7 900 68% |JK: .900
| JL522 |7 900 68% |JK: .900
[oLs24 |7 600 | 72% [k X > 5.14.900
| JL526 | 7 .900 68% |4 :10.600
| JL528 |7 100 73% |K: 800, £ H:13.100
530 | 7 .100 73% | 00
REEE T Hm () % |_JL303 | 7 9.800 76% K. 00 00
[oL305 |7 1500 | 72%
307 | 7 .500 65%
309 | 7 .700 62%
L3t1 | 7 .700 62%
L313 | 7 .900 64%
L315 | 7 .000 68%
L317 | 7 1.000 73%
L319 | 7 1.000 73%
L321 | 7 9,800 76%
L323 | 7 ,300 75%
[ JL325 | 7 .800 1%
327 | 17 .800 1%
[ Jr329 [ 7 000 | 66%
331 7 ,000 68%
[ Jr333 |7 000 | 68%
335 | 7 ,000 64%
AR 300 |7 1000 | 68%
[oLs0z [7 000 | 68%
304 | 7 ,000 68%
[ Jr306 | 7 800 | 64%
L308 | 7! ,500 67%
L 7 1,400 2%
L. 7 9,800 76%
L 7 9,800 76%
L 7 ,400 75%
L. 7 ,100 1%
L32 7 ,000 68%
[Jis22 [ 7 100 | 68%
324 | 7 ,900 66%
[ JL326 | 7 ,900 66%
L328 | 7 ,900 66%
L33t 7 ,400 70%
L33: 7 .000 73%
R () R (%) | R CRE) % | _JLo0i | 7 500 | 66%
[ Jreo3 | 7 700 | 61%
| JL905 |7 7.700 61%
| JLoo7 [ 7 7.700 61%
L909 | 7! ,400 60% |4
L913 | 7 ,400 60% | K:16.600, H:
L915 | 7 ,200 7
L917 | 7 ,200 7
L919 | 7 ,200 7
[ _JL921 7 ,200 7
[ Jro23 |7 200 | 71% |2:19.100. L A:16.600
925 | 7 ,200 7 £:22,600, H:18,500
P (AR % |_JL900 | 7 200 | 7 % +:15.400
[ JL902 | 7 ,200 7
[ JL904 | 7 ,200 7
[ JL906 | 7 ,200 7
L908 | 7 ,200 7
L 7 ,700 66%
L 7 ,700 66%
L 7 700 61%
L 7 7,700 61%
L 7 7,700 61%
| _JL92 7 ,200 65%
922 | 7 ,500 66%
FE @) 8| RRCRE) % | _JLssl |7 000 | 73%
| JL553 | 7 .800 73% |4
| JL555 | 7 .300 74%
557 | 7 300 74%
FEIES 552 | 7 700 | 74% |4
| JL554 | 7 .100 75%
| JL556 | 7 .000 75% |JKA:11,800, £:12,300, H:14,100
L558 | 7 .000 75% |7KA:11,800, :12,300, H:14,100
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TIUNSEFIEER CAI~5BERS)

EEBEAB 2016/09/06
2/15
FH =x7=
B B | mam - IIESEF
BB ERE FHES %5
FR(CRE)=X5 HR(PE) R .500 69% 00
900 | 68%
200 | 69%
100 | 7
500
500
K% .600
.000
500
500
400 | 66%
400 | 66%
FR(CRE) =R R (PA)F [ JL .600 7
200 | 7
500 | 7
7 500 | 7
7 100 |75
7 100 | 75%
RIESR 7 100 | 75%
7 100 | 75% | +£:11.700.
7 100 | 75% 700 £:11.500
7 600 | 73% 700, £:12.000.
7 600 | 73% 300, £:12.000.
7 600 | 73% 900, £:11.000. H:13.700
FR(CRE) =R RRPE)F [ J 7 .000 73%
7 300 | 70% |2:12.600. £:12.700
7 300 | 70% | +:12.700. H:10.900
7 200 | 70% | K:11.500. A:11.700
7 200 | 70% | K:11.500. A:11.700, B:
7 500 | 7 ES
7 200 | 7 =:
7 000 | 7 &:
AR 7 800 | 7 £
7 300 | 70% &
7 400 | 75% |4
7 9.800 76% |4
7 000 | 73%
7 600 | 72%
7 600 | 72%
L 7 1400 | 75%
FR(CRR)=215 HR(PA)F [ JL 7 .500 72%
7 500 | 72%
7 1200 | 70%
7 500 |74
7 800 | 7
7 800 | 7
B 7 500 | 7
7 800 | 7 ,000. H:11.500
7 200 | 7
7 500 | 72 200, £:11.800. H:13.300
7 500 | 72% 400, H:13.300
7 1200 | 70% ,000. £:11.500. H:14.000
ERCPE)-ERS RERCRE) % 7 .900 75% | 1:11.700
7 1200 | 72% 400 £:13.500. H:12.000
7 1200 | 72% 00
7 700 | 75%
7 000 | 75% |&%
7 600 | 76%
7 400 | 76%
7 500 | 74%
BERER 7 000 | 75%
7 000 | 75%
7 500 | 74%
7 500 | 74%
7 000 | 75%
7 000 |72
7 500 | 71 +13.100, £:9.900. H:13.500
7 500 | 74 +12.400. £:9.900
KR (FFH=L& KR (75 % 7 .000 1
7 400 £:15.700. B:11.700
7 700
7 700 E
7 .200 2 g
7 600 | 58% |£:17,000, £:11,800. H:16.100
7 300 | 59% |£:16,100, F:11,800, H:15,100
&% 7 000 | 71%
7 400 | 61% |&£:13.900
7 .700 | 60% |%+:14,300. H:14,000
7 100 | 59% |&+
7 100 | 56% £
7 900 | 63%
7 200 | 68%
KR (FFH) =18 KB (FH % | J 7 ,400 62%
7 400 | 62%
7 000 | 60%
7 200 | 56%
iR 7 ,300 56%
7 000 | 60% |&
7 200 | 62% |%:14,800. H:13.900
7! ,200 62% :13,900, £:14.800,
KR (FFH) =K% KB (75 % 7 .300 52% 1:12,600, ,700
7 100 | 44% A:10,000
7 300 | 52% |%:12,100. H:12.600
A5 7 000 | 54% |H:11,200, #:12,100, £:11,700
7 800 | 45% 13,300
7 100 | 44% 12,600, £:11,200




55"/ EER(2A13~28ABES)
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2/13-28
i —aT
) ®a | madm - TNFSERE
| ERE | no2 [
R (FE) =AR(FA) | Rx G 5 9,800 1 0300, H:8.500
9.800 1 0.300. H:9.300
.100 4
.800 7
.800 7
.300 59%
.300 59%
.300 63%
300 63%
.700 58%
.400 55%
.400 55%
.400 55%
.400 55%
.400 55%
KR () % |_JLi02 |7 7400 | 7%
7 .400 55%
7 .400 55%
7 .400 55%
7 .800 57%
7 .100 60%
7 .800 % :9.300, £:10.100
7 .800 % :9.300, 7K:9.400, A:9.400. F:9.300
7 .800 £:9.300
7 .800
7 .800 .500, 1:8.800
7 800 .500, 1:8.800
7 .700 .500, £:9.300
7 .700
7 .700
F GHE) =ALBL (BT )| Hm CPE) % | JL593 | 7 .600
7 .600 7
7 .600 7
7 .100 68% | K
7 .400 64% | Kb
7 .800 63% | KIK:13,
7 .800 66% [XJK:12.300, &:1
7 .900 68% [ A:12.100, #:12.800
7 .200 70% [A:11.500, :12.800.
7 .100 73% [#1:12.200, B:12.600
7 .100 3% |[F+
7 .900 68% |7k:
7 .900 68% | AK:
7 .900 68%
7 .900 66%
7 .900 66%
7 .300 70%
AL (BT ) 3 _JL500 | 7 800 | 66%
| JL502 |7 .000 63%
| JL504 |7 .500 64%
| JL506 | 7 .600 66%
| JL596 | 7 .200 70%
L508 | 7 .100 73
L 7 .100 73
L 7 .900 ol
L 7 .200 67
L 7 .200 67
| JL 7 .200 65%
| JL520 | 7 .200 65%
| JL522 |7 .200 65%
| JL524 |7 .600 66%
| JL526 | 7 .900 68%
| JL528 | 7 .800 71%
530 [ 7 .100 73%
R (AE)=18M | BmCPE) % | JI303 |7 9800 | 76%
| JL305 | 7 1.500 72%
307 [ 7 .500 65%
309 [ 7 .700 62%
L311 | 7 .700 62%
L313 | 7 .900 64%
L315 | 7 .000 68%
L317 | 7 1.000 73%
319 | 7 1.000 73% E
L321 | 7 9,800 76% ,900, £:12,300, H:12,000
L323 | 7: 300 75% E=
[ JL325 | 7 .700 72%
327 | 7 .800 1%
| JL329 [ 7 000 66%
331 | 7 ,000 68%
| JL333 | 7 000 68%
335 | 7 ,700 64%
EERE 300 | 7 ,000 68%
| JL302 | 7 ,000 68%
304 |7 ,000 68%
| JL306 | 7 800 64%
L308 | 7 ,500 67%
L. 7 1,400 72%
L. 7 9,800 76%
L. 7 9,800 76%
L. 7 400 75% ,000, H:13,900
L. 7 ,100 1% 3,000, H:14,500
L32 7 ,000 68% 15,700, £:12,300
[ JL322 | 7 ,000 68% 15,700, +:12,300, H:16,300
324 | 7 ,900 66% 0
[ JL326 | 7 ,900 66% 0
L328 | 7: ,900 66% 9
L33 7 ,400 70% 9
L33 7 .000 73% 0
R (FIE) = # () | R CRE) % | JL90i |7 500 | 66%
| JLo03 |7 700 61%
| JL905 |7 7,700 61%
| JLoo7 [ 7 7,700 61%
L909 | 7 ,200 65%
L913 | 7: 200 65% ,400, H:15,500
L915 | 7: ,200 7
L917 | 7: ,200 7
L919 | 7: ,200 7
[ JL921 | 7 ,200 7
| JL923 [ 7 ,200 7 #:19,100, F H:16,600
925 | 7! ,200 7 £:22,600, H:18.500
h#E (FRER) % |_JL900 | 7 ,200 7 %:15.400. H:14,500
[ JL902 | 7 ,200 7
[ JL904 | 7 ,200 7
[ JL906 | 7 ,200 7
L908 | 7: ,200 7
L 7 700 66%
L 7 700 66%
L 7 .700 61%
L 7 7.700 61%
L 7 7.700 61%
| _JL92 7 200 65%
922 | 7! 500 66%
RR(HE) - | BRCPE) % [ Jssl |7 000 | 73%
| JL553 | 7 .800 73%
| JL555 | 7 .300 74%
557 | 7 .300 74%
FEIES 552 | 7 700 74% X
| JL554 | 7 .100 75% ,800
| JL556 | 7 .800 73% ,300, £:11,000, H:14,100
L558 | 7: .800 73% ,300, £:11,000, H:14,100
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EEEME . 2016/09/06
2/13-28
T4 128
2 @ | mAM TAESER
® | mmm | B0
" | mai=
TRE) KA | AR (R 500 | 69% | E17600 B
.900 68% 3.000, t:
.200 69% 2400, H:
.000 7 f:11.100,
500 :12.900. H:
500 13.800
FAE 600
.000
500
500
.400 66%
.400 66%
TR R R | R (D % |l 600 | 7
.200 7
500 7
7 .500 7
7 .100 75
7 .100 75% 8
RIGS 7 100 75% |
7 .100 75% |
7 .100 75% |&:
7 .600 73% | A& 1:13.800, B
7 .600 73% | A£1:13.800.
7 .600 13% 3.900, £
TR RE) A | R CRE R | 7 000 |73 [#:11.100. E
7 .300 70% 212,600, £
7 .300 70% 1+:12.700, H:10.900
7 700 1 X7K:11.500, £ +:12.200, H:11,000
7 .100 1 A 7K:11,500, £ 1:12.200, H:11.000
7 .500 1
7 .200 7 £:11.600, .
7 .000 7 H:12.200. £
RERHR 7 .800 7 12,
7 .300 70% |A#:
7 .400 75%
7 9.800 76% T
7 9.800 76% T
7 .600 12% 500, 1:11.500, H:13.300
7 .600 12% .000, H:13.800
Lf 7 .400 75% .000, H:12.700
TR ) EE | R () % | _JL6e7 | 7 500 | 724 [Fi12400
7 .500 12% .800, 1:12.400
7 .200 70% 200, 1:13,000. 00
7 .500 74 900, £:11.200, H:11.300
1 .800 1 12.400. 00
7 .800 7 X 13.300
= I 7 .100 1 11,500, 00, 1:13.300
1 .800 7 2.400, 1+:13.000, H:11.500
7 .000 1 H:11.200
1 .500 72 .700, £:12.200. £:11.800. H:13.300
1 .500 72% | 400, H:13.300
1 .200 70% | .000, £:11,500, H:14.000
FRE) ERE | AR IR 7 900 | 754 [+:11.700
7 .200 12% 400, 1:13.500, H:12.000
7 .200 12% 13.500. 00
1 .700 75%
7 .000 75%
7 .600 76%
7 .400 76%
7 .500 74%
ERER 7 .000 75%
7 .000 75%
7 .500 74%
7 .500 74%
7 .000 75%
7 .000 72
7 .500 n :13.100, £:12,000, H:13.500
7 .500 74 12,400, 1:9.900
RREM-IE | AREE 7 000 |71
7 400 1:15.700. H:11.700
7 700
7 700 =
7 .200 2" 5
7 ,600 58% 217,000, £:11,800, H:16,100
7 ,300 59% 216,100, £:11,800, H:15,100
=3 7 ,000 1%
7 ,400 61% 1:13.900
7 ,700 60% 1:14,300, H:14,000
7 ,100 59% =+
7 ,100 56% t
7 ,900 63%
7 .200 68%
ARG B | KRG | 7 400 | 624
7 400 62%
7 ,000 60%
7 ,200 56%
FRRE 7 ,300 56%
7 ,000 60% =
7 ,200 62% 214,800, H:13,900
7 ,200 62% 113,900, £:14,800,
RREFM-KA | FRENE 7 300 | 624 [+ 12,600, H:10.700
7 ,000 54% 1+ H:12,100
7 ,300 52% 212,100, H:12,600
P 7 ,000 54% 211,200, £:12,100, £:11,700
7 .800 45% 13,300
7 ,100 44% 12,600, £:11,200
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s /1 1/8 )
=R Ba | magn [ZAESER|DLNSER] DS ER
BB B
HRCRBR)=XR () | RRCAE) R .300
.300
500
500
500
1300
800
800
800
800
300
300
300
300
300
KB (FH $ | JL 7 .500
7 800
7 800
7 800
7 800
7 10.800
7 10.800
7 300
7 300
7 300
7 800
7 800
7 300
7 300
7 300
FR CRE)=4LIR (i Fi)| RRCHE) % |_JL 7 .300
7 300
7 200
7 .200
7 800
7 800
7 600
7 000
7 .600
7 .600
7 500
7 500
7 500
7 600
7 600
7 9.600
#LO% (37 F#%) §__JL500 | 7 500
["Jts02 | 7 100
[ JL504 | 7 300
[ JL506 | 7 000
L508 | 7 .600
L 7 .600
L 7 .600
L 7 .600
L 7 .600
[ JL 7 1300
[ JL520 | 7 300
[ 522 | 7 1300
[ JL524 | 7 100
[ JL526 | 7 100
[ 528 | 7 9.600
530 | 7 9.600
RR(CRE) =18 FRCRE)$ | _JL303 | 7 .600
[ JL305 | 7 100
307 |7 .200
309 [ 7 .200
7 .200
L313 |7 300
L315 | 7 .500
1317 |7 200
1319 |7 .200
7 200
1323 |7 000
[ JL325 | 7 1500
327 | 17 .200
| JL329 [ 7 ,200
331 7 ,700
| JL333 | 7 700
335 | 7 900
FES 300 [ 7 ,900
| JL302 |7 700
304 | 7 ,700
| JL306 | 7 700
L308 | 7! ,500
L. 7 ,900
L. 7 700
L. 7 700
L. 7 900
L. 7 700
L32f 7 900
| U322 [ 7 100
324 | 7 ,100
| JL326 | 7 100
| JL328 | 7 700
L33t 7 ,700
L33: 7 900
R CRE) =R FR(CRE) % |_JL55 7 ,300
[ JL553 | 7 ,900
| JL555 | 7 500
557 | 7 ,500
FEIES 552 | 7 ,000
| JL554 | 7 ,300
| JL556 | 7 200
558 | 7 ,200
RR(CRE)=K%9 RRCPE) $|_JL661 | 7 .900
| JL663 | 7 ,800
| JL665 | 7 ,800
| JL667 | 7 .000
| JL669 | 7 .500
671 7 .500
Ko | JL662 | 7 200
| JL664 | 7 200
| JL668 | 7 .500
670 | 7 .500
672 | 7 ,000
674 | 7 .100
RR(RE)=-RIK BRCRE) $|_JL605 | 7 .700
| JL607 | 7 ,400
[ JL609 | 7 ,400
L611 7 400
613 | 7 200
615 | 7 200
R [ _JL606 | 7 .300
L608 | 7 300
Lf 7 .000
Lf 7 .000
L 7 ,000
Lf 7 .000
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ILNSEFIEER(1AT~IBERS)

=40]

FH
BAH
R

1/7
DILESER

1/8 1/9
DILESER| VSRS

ERE

R CRE)=MEX

R CRE) #

.200

.700

ERE

500
[ 9.100

.700

200

.700

.700

.800

.600
.600

9.600

1.500

AR

7.600

7.600

.100

.100

.600

.800

.600

600

R CRE) =58

R CRE) | JL

.300

.300

.800

.900

.500

.500

.600

.800

.800

.300

.700

.500

RR(PE)-ERS

R CRE) #

.800

.800

.800

.000

.000

.600

.000

.500

ERBR

.400

.400

.500

.500

.100

.600

.000

100

KR (D =HlE

KR (R F | J

.000

.700

.400

.400

.800

.800

.800

.000

.900

.300

.400

.400

.900

.800

KR (D) =38

KR (£751) %

.500

.500

.100

.600

HRE

.000

.000

.900

.300

KR () =K

KR (£751) %

.600

.100

.300

EX

.700

800

] Y Y Y Y Y Y Y Y Y Y Y Y ) Y Y Y Y Y )Y Y Y Y Y Y )Y Y)Y Y Y Y )Y YY) Y Y ) Y ] Y] Y ) Y Y ) ) ) ) )
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TILNSEFIEER (A~ 12BERS)

EEEAR : 2016/09/06

™ 2/6 2/7 2/8 2/9 2/10 2/11 2/12
) Ba | A [ZAESER] DS ER] DS EB SIS RE] DLtSEB DSk | D LS %R
BB B e e e e e
HRCRBR)=XR () | RRCAE) R 9.800 9.800 9.800 .300 .300
9.800 9800 | 9.800 300 300
700 700 11.700 300 500
.800 00 10.800 200 500
.800 500
.300 | 11.300
.300 [_9.800
300 [_9.800
300 |_9.800
700 [_9.800
.200 300
200 300
.200 300
.200 300
.200 300
KB (FH $ | JL 7 1.400 .500
7 .400 800
7 400 800
7 400 800
7 800 |__9.800
7 100 10.800
7 800 10.800
7 800 300
7 800 300
7 800 300
7 800 800
7 800 800
7 11.700 300
7 11.700 300
7 11.700 300
R CRE) =18/ HR(PE)F [ JL 7 9.800 .700
7 500 100
7 500 400
7 700 400
7 700 400
7 .900 700
7 000 14900
7 1,000 500
7 1,000 300
7 9.800
7 300
7 700
7 800
7 .000
7 000
7 000
7 700
E RS 7 .000
7 000
7 000
7 800
7 500
L. 7 1.400
L. 7 9.800
L. 7 9.800
L. 7 400
L. 7 100
[ JL320 [ 7 000
[ L322 |7 900
324 |7 .900
[ JL326 | 7 .900
[ JL328 | 7 .900
1330 | 7 400
1332 | 7 .000
FRCRE) =R FR(CRE) % |_JL55 7 .000
[ JLs53 | 7 .800
| JL555 | 7 100
557 | 7 100
BNSE | _JLs52 | 7 .700
[ JLs54 | 7 100
[ JL556 | 7 .800
558 | 7 800
RR(CRE)=K5 FR(CPE) $|_JLe6l | 7 .500
[ JL663 | 7 ,900
| JL665 | 7 ,200
| JL667 | 7 ,000
| JL669 | 7 500
671 7 .500
Rn®E | _JL662 | 7 600
| JL664 | 7 ,000
| JL66s | 7 500
670 | 7! .500
672 | 7 ,400
674 | 7 ,400
RR(CRR)=RIK FR CRE) % |_JL605 | 7 .600
| JL607 | 7 ,200
| JL609 | 7 700
611 7 100
613 [ 7 100
615 | 7 100
&% | _JL606 | 7 100
[_JL608 | 7 100
L 7 100
L 7 1600
L 7 1600
L 7 600
WRCAE)-IEAR | WA (AE) 3 | _JL623 [ 7 000
| JL625 | 7 ,300
| JL627 |7 ,300
| JL629 |7 700
631 7 100
| JL633 | 7 500
637 | 7 .200
639 | 7 ,200
feA% U622 [ 7 ,800
| JL624 | 7 ,300
| JL626 | 7 ,400
| JL628 | 7 9,800
Lf 7 9,800
L 7 1600
Lf 7 .600
Lf 7 ,400
RRCHE) =285 FR (PH) % [ _JL6s7 [ 7 500
| JL689 | 7 .500
| JL691 7 ,200
| JL693 | 7 ,500
| JL695 | 7 ,300
697 | 7 .800
=R | _JLess | 7 700
[ JL690 | 7 .800
| JL692 | 7 .000
| JL694 | 7 .700
| JL696 | 7 .500
698 | 7 ,200
RRCAE)-ERS | RRCHE) % | J6dl |7 .900
L643 | 7 ,200
L645 | 7 ,200
L647 | 7 ,700
| JL649 | 7 ,000
| JL651 7 ,600
| JL653 | 7 ,400
L655 | 7 .500
BERB% L 7 ,000
Lf 7 .000
Lf 7 .500
Lf 7 .500
Lf 7 .000
| JL650 | 7 ,000
| JL652 | 7 ,500
L654 | 7 .500
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=40]

FH
BAH

2/10

2/11

2/12

2/6
DILESER

2/1
DILESER

2/8
DILESER

2/9
DIVESER

DIVESER

DIVESER

DIVESER

ERE

ERE

KBR (5D =&

ENACESES

.000

.400

.400

.400

.400

.600

.000

e

.000

.400

.700

.400

.400

.900

.200

PUACESE T

KR (£751) 5 | JL:

.400

.400

.000

.000

HRR

.300

.000

.200

.200

KR (=K

R (P % L

.200

.000

.300

EE

.000

.800

] ] Y Y Y Y ) Y Y Y Y Y
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Py 3/1-9
- gz | mi - TLISER
B | mma | EREE 00
F51% | FI51%
R (RE) AP | AR 5E00 | 6% | oo
9.800 1 64%
.100 4 58%
.800 7 61%
.800 7 61%
.300 59% 63%
.300 59% 63%
.300 63% 66%
300 63% 66%
.700 58% 61% 00, H:9.300
.400 55% 59% .200, £
.400 55% 59%
.400 55% 59%
.400 55% 59%
.400 55% 59%
RIR (B % |_JL 7 7.400 71% 734 |6
7 .400 55% 59%
7 .400 55% 59% |F
7 .400 55% 59% 00,
7 .800 57% :8.
7 .100 60% 1300
7 .800 .300, £:10.100
7 .800 300, 7K:9.400, :9.400. +:9.300
7 .800 300, KA 9.300
7 .800
7 .800
7 800
7 .700 58%
7 .700 4 58%
7 700 | 54 58%
EEEIRIEE Y EreTIE S MR ] 100 70 | 72a
7 .100 70% 72%
7 .100 70% 72%
7 .400 67% 69%
7 .400 67% 69%
7 .800 66% 68%
7 .300 65% 67%
7 .400 67% 69%
7 .800 69% 70%
7 .500 72 74%
7 .500 72 74%
7 .400 7 69%
7 400 7 69%
7 .400 7 69%
7 .500 4 66% 3
7 .500 4 66% . . 14.100
7 .900 68 70% 4,500, +:10.500, H:13.800
FLIR (5 &) 3_JL500 | 7 400 | 64% 66% :13.500, % T:14.200. H:10.500
| JL502 | 7 .700 61% 63% 5.300, H:11.800
| JL504 | 7 .100 62% 65%
| JL506 | 7 .200 65% 67%
| JL596 | 7 .800 69% 7
L508 | 7 .500 72% 7
L 7 .500 72% 7
L 7 .400 70% 7
L 7 .100 65% 6
L 7 .200 65% 67
| JL! 7 .800 63% 65%
| JL52i 7 .800 63% 65%
| JL522 | 7 .800 63% 65%
| JL524 | 7 .100 65% 67% B
| JL526 | 7 .400 67% 69% 1.100
| JL528 | 7 .300 70% 72
530 | 7 .500 72% 74
FR ) RE | R A% | L0 |7 000 et |
| JL305 | 7 .500 72% 74
307 | 7 .500 62% 64¢
309 | 7 .700 59% 62
L311 | 7 .700 59% 62%
L313 | 7 .700 62% 64%
L315 | 7 .800 66% 68%
L317 | 7 .500 72% 74%
L319 | 7 .000 73% 75%
L321 | 7 400 75% 76%
L323 | 7: 900 73% 75%
[ JL325 | 7 ,000 1% 72%
327 | 7 ,500 70% 1% 5,200
[ JL329 | 7 ,000 66% 68% :12,500, H:15,700
331 | 7 ,800 66% 68% 1,500, H:15,700
[ JL333 | 7 ,800 66% 68% 1,500, H:16.700
335 | 7 ,800 64% 66% 8,700, £:11,500, B
TEE%E | _JL300 | 7 000 | 68% 70% 3,800, H:10,400
U302 |7 800 | 66% 68% 10,400
304 |7 ,800 66% 68% 0,400
| JL306 | 7 ,800 64% 66% 5,700, H:11,500
L308 | 7 ,400 65% 67% 5,300, H:11,500
L. 7 ,000 71% 72%
L. 7 400 75% 76% ,700, H:12;
L. 7 400 75% 76% 2,700, H:13.400
L. 7 400 75% 76% 3,700, H:14,700
L. 7 ,900 69% 70% :13,800, H:15,500
L32 7 ,800 66% 68% 3,100
[ JL322 | 7 ,000 66% 68% | K: 6,700, £:13,100, H:17,200
324 | 7 ,000 66% 68% | K: 7,700, £:12,500, H:17,200
[ JL326 | 7 ,700 64% 66% :13,100, H:17.200
L328 | 7: ,700 64% 66% 1,500, H:16.700
L33 7 ,200 68% 70% 1,500, H:15,500
L33. 7 .000 73% 75% 0.400, H:14.400
R (FIH) = (8) | R (RE) 3 | _JLo0i | 7 800 | 66% | 67% 16,500, £:16.500
[ Jreo3 | 7 100 | 60% 62% 15,800
[ Jreos | 7 100 | 60% 62% 15,800
[Jreo7 |7 100 | 60% 62% 15,800
L909 | 7 500 64% 66% | A: ,800, H:15,800
L913 | 7: .500 64% 66% | K- ,800, H:15,800
L915 | 7: ,600 70% 7.
L917 | 7: ,600 70%
L919 | 7: ,600 70% 7.
[ JL921 | 7 ,600 70% 7.
[ uLe23 |7 ,600 | 70% 7 £:19.100, £ H:16.900
925 | 7! ,600 70% 7. 6,500, H:18,800
SR (IRER) % |_JL900 | 7 600 70% 7. #:15,600, H:14.800
[ JL902 | 7 ,600 70% 7.
[ JL904 | 7 ,600 70% 7.
[ JL906 | 7 ,600 70% 7.
L908 | 7: ,600 70% 7.
L 7 200 65% 66%
L 7 200 65% 66%
L 7 ,100 60% 62%
L 7 ,100 60% 62%
L 7 ,100 60% 62%
| _JL92 7 .500 64% 66%
922 | 7! 800 66% 67%
FRCAE)=E)I | R (AE) 3 | _JL551 [ 7 000 | 73% | 74%
| JL553 | 7 .800 73% 75%
| JL555 | 7 .300 74% 76%
557 | 7 .300 74% 76%
JENFE | _JL552 | 7 700 7% 75% ]
| JL554 | 7 .100 75% 76% :12,800
| JL556 | 7 .800 73% 75% ,300, 1:11,000, H:14,200
L558 | 7: .800 73% 75% ,300, £:11,000, H:14.200




ILNSEFIEERGRAI~IBERS)
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Py 3/1-9
= @ | mA RS
® | mmm | BEW EOB %
" | mizix | mizix i
RRCHE) =K% R CHE) % 500 | 69% | 71% 2800, H:10.800
.200 67% 69% 700, H:12.000
.200 69% 1% :11.500
.000 7 74% 1.200. £:12.200, B
500 73% | #:13.200, H:13.300
500 73% | $:14.200, H:13.800
Py 800 75%
.000 74%
500 3%
500 3%
.700 66% 68%
.700 66% 68%
TR B BB | BR CHE R [ 200 | 72% | 748
.100 70% 2%
500 7 5%
7 .500 7 75%
7 .500 7 75%
7 .500 7 75%
EBR 7 500 |7 75%
7 .500 7 75%
7 .100 7 75% K
7 .000 70% 2% 1400, £:12.300. H 0
7 .000 70% 2% 400, 1:12,300, H:15.200
7 .000 70% 2% 12,
TR IB A | R RER [ J 7 200 | 734 | 748 )
7 700 69% 1% .600, £:13.700, H:10.600
7 .100 68% 70% ,300, £:13.700, H:11.800
7 .100 7 2%
7 .100 7 2%
7 .500 1 74%
7 .100 7 2% 300, H:13.700
7 .000 7 2% 400, H:13.800
AR 7 200 |__70% 7% % 500
7 .200 68% 70% A
7 .300 7 74%
7 .600 7 76%
7 .000 7 75%
7 .000 7 2%
7 .000 7 2%
Lf 7 .300 7 74%
TR BB | RERER [ _JL687 |7 900 | 7 73%
7 .900 7 3%
7 .200 70% 2%
7 .500 74% 76%
1 .200 70% 2%
7 400 70% 2% Y
EER 7 100 | 71% 72% |A:
7 .200 70% 72% &
7 .000 13% 75% [&
7 .500 12% 74% [ B:
1 .500 12% 74% |£:12.400. £:11.800. H:13.900
1 .200 70% 2% | .000, 1:11.500. H:14.000
FRCAE)-ERE | RaCAER 7 000 | 754 | 76% [+
7 .500 1% 73%
7 .800 1% 2%
7 .000 75% 76%
7 .000 75% 76% :12.500. H:11.700
7 .000 75% 76% 2400
7 .900 75% 76%
7 .000 75% 76%
BERBR 7 300 | 7 75%
7 .300 7 75%
1 .500 7 75% :13.4
7 .500 7 75% :12.200
7 900 1 74% :12.800, +:11.500
7 400 72 73% :13.300, 1:12.000
7 .000 70% 2% :13.400, +:10.400. H:13.900
7 .000 12% 74% 2.400, £:10.400. B
FREM-E | AR FDE 7 200 | 684 | 70
7 400 66%
7 700 66%
7 700 66%
7 .200 2" 64% :
7 ,600 58% 61% , £:11,800, H:16,100
7 ,300 59% 61% 00, £:11,800, H:15,100
a5 7 800 |__66% 68% | £.13.900
7 ,400 61% 64% ,900
7 ,700 60% 63% ,300, H:14,000
7 ,100 59% 62% ,400
7 ,100 56% 59% ,400
7 ,900 63% 65% :16,400, £:13,900, H:16,100
7 .200 68% 70% :16,100, £:11,800, H:14,600
A E ) ENAGCE 7 400 | 62% 65% |£:13,000, :13,900, H:12,200
7 400 62% 65% +:13.900, H:12,200
7 ,000 60% 63% :13,900, £:13,500, H:14,000
7 1200 | 56% 50% :15,300, +:13,000
iR 7 ,300 56% 59% :13,500
7 ,000 60% 63% +:14,300, H:13.900
7 ,200 62% 65% 214,800, H:13,900
7 ,200 62% 65%
FREMX5 | AR DR 7 300 | 5% | 574
7 ,000 54% 59% =
7 ,300 52% 57% 212,100, H:12,600
POy ] 7 000 |__54% 59% | H:11,200, £:12,100, 11,700
7 .800 45% 51% :13,300
7 ,100 44% 50% :12,600, 1:11,200




55" EERGBAI0~16BEES)

EEEAR : 2016/09/06

Py 3/10-16
= @ | mA — RS
CNEIE #%
TR AR () | R (R 9800 | 64 |T10300. Ha500
9.800 64% 0.300. H:9.300
700 58% 00, £:12.300, 1:11.500
800 61% |4 2200,
800 61% | K 1,700,
300 63% | A +:11.300, B:9.300
300 63% |A:10.800, £:9.800, B:9.300
300 66% |4
300 66% |4
700 61%
400 59%
400 59%
400 59%
400 59%
L 400 59%
R 102 |7 7400 | 74
7 400 59%
7 .400 59%
7 .400 59%
7 .800 1
7 .100 :9.
7 .800 :9.300, £:10.100
7 .800 :9.300. 7k:9.400. A:9.400. £:9.300
7 .800 1£:9.300
7 .800
7 .800
7 800
7 700 58%
7 700 58%
7 700 58%
O CHED =AU (7 )| JUR O 3 [ L0 | 7 100 | 720
7 100 72%
7 100 72%
7 400 69%
7 400 69%
7 800 68%
7 300 67%
7 400 69%
7 800 70%
7 500 74%
7 500 74%
7 400 69%
7 400 69%
7 400 69%
7 500 66%
7 500 66% :16.000, +£:11.800, H:14.
7 900 70% .500. H:13.800
FLIR (5 &) 3_JL500 | 7 400 | 66% 0,
| JL502 |7 700 63%
| JL504 |7 100 65%
| JL506 | 7 200 67%
| JL596 | 7 800 70%
L508 | 7 500 74
L 7 500 74
L 7 400 ol
L 7 100 67
L 7 200 67
ac 7 800 | 65%
[ Ji520 | 7 800 | 654
| JL522 |7 800 65%
| JL524 |7 100 67%
| JL526 | 7 400 69%
| JL528 |7 300 72%
530 [ 7 500 74%
TR CHED R | R (B |0 |7 800 [ 700
[ Ji305 | 7 500 | 71
307 [ 7 .500
309 [ 7 .700
L3t | 7. .700
L313 | 7 .700
L315 | 7 .800 6
L317 | 7 .000 72%
L319 | 7 .000 72%
L321 | 7 400 76%
L323 | 7: 900 75%
[ JL325 | 7 ,500 1%
327 | 7 ,500 1%
[ JL329 | 7 ,800 66%
331 | 7 ,800 68%
[ JL333 | 7 ,800 68%
335 | 7 000 63%
TEE%E | _JL300 | 7 000 | 68%
302 |7 800 | 68%
304 |7 ,800 68%
[ JL306 | 7 700 | 64%
L308 | 7 ,400 67%
L. 7 ,300 72%
L. 7 400 76%
L. 7 400 76%
L. 7 .400 74%
L. 7 ,900 70%
L32 7 ,800 68%
[ JL322 | 7 ,400 67%
324 | 7 ,700 66%
[ JL326 | 7 ,700 66%
L328 | 7: ,700 66%
L33 7 ,200 70%
L33: 7 ,000 72
R (FIH) = (8) | R (RE) 3 | _JLo0i | 7 800 | 67
[ Jreo3 | 7 100
[ Jreos | 7 100
[Jreo7 |7 100
L909 | 7 500 66
L913 | 7: .500 66% |4 ,800, H:15,800
L915 | 7: ,600 7.
L917 | 7: ,600 7.
L919 | 7: ,600 7.
[ JL921 | 7 ,600 7.
U923 |7 600 | 7 %:20,600. £ H:16,900
925 | 7! ,600 7. £:24,100, H:18.800
S8 (A0ER) % |_JL900 | 7 ,600 7 £:15,600, H:14.800
[ JL902 | 7 ,600 7.
[ JL904 | 7 ,600 7.
[ JL906 | 7 ,600 7.
L908 | 7: ,600 7.
L 7 200 66%
L 7 200 66%
L 7 ,100 62%
L 7 ,100 62%
L 7 ,100 62%
| _JL92 7 .500 66%
922 | 7! 800 67%
ER(HE) BN | RECHE)E | JLs51 |7 000 | 74%
| JL553 | 7 .800 75% | ,100, H:12,400
| JL555 | 7 .300 76% J H:12.300
557 | 7 .300 76% . & H:12.300
JENFE | _JL552 | 7 700 75% X
| JL554 | 7 .100 76% ,800
[ JL556 | 7 800 | 75% 300, £:11,000, H:14,200
L558 | 7: .800 75% ,300, £:11,000, H:14,200




55" EERGBAI0~16BEES)

EEEAR : 2016/09/06
E 3/10:16 -
X B2 | ma ESRE
R
R CRE)=X% R CRE) # 2.800, B:

3.300, +:

2.400. B:

£:11.200,
113200, H:13.300
114200, H:13.800
K%
FR(CRE) =R R (PA)F [ JL
400, H:12.000
7 400, H:12.000
7 . : 0. H:13.500
7 500 | 75% [A: 000
RIESR 7 500 | 75% |&:
7 500 | 75% |4 ]
7 700 | 75% 11,500,
7 000 | 72% 400, +:13.800
7 000 | 72% 400, £:13.800. H:15.200
7 000 | 72% 200 £:12.000. H:14.800
FR(CRE) =R RRPE)F [ J 7 -200 74% .300, H:10.500
7 700 | 71% |+:13.700. H:10.600
7 100 | 70% 300, £:13.700. H:11.800
7 100 | 7 300, £:12.800 00
7 100 | 7
7 500 | 7
7 100 | 7
7 000 | 7
AR 7 200 | 7
7 200 | 70%
7 300 | 74%
7 600 | 76% |&t
7 000 | 75% |%+:11.200. H:11.500
7 000 .900. +:11.500. H:14.000
7 000 100, H:14.900
L 7 300 100, H:13.700
FR(CRR)=215 HR(PA)F [ JL 7 .900 .000, H:11.500
7 1900 400, H:11.500
7 200 500, £:13.000
7 500 | 7 1.200. H:11.900
7 200 | 7 3.000 00
7 400 | 7 £o12. 5 300
B 7 100 | 7 112.800. +:13.300 00
7 200 | 7 112400, £:13.000. B:11.500
7 000 |75 £ 5:11.200
7 500 | 74% 700, %:12.400. F:12.200. H:13.900
7 500 | 74% |%:12.400. £:11.800.
7 200 | 72% |%:13.000. £:11.500. B:
ERCPE)-ERS RERCRE) % 7 .000 76% | 1:12.000
7 500 | 73% |%+:14.100. H:12.000
7 800 | 72% |%+:14.100. H:12.000
7 000 | 76% _H:11.700
7 000 | 76% . H:11.700
7 000 | 76%
7 .900 | 76% 00
7 000 | 76%
BERER 7 300 | 75%
7 300 | 75%
7 500 | 75%
7 500 | 75%
7 900 | 74%
7 1400 | 73%
7 000 | 72%
7 000 | 74%
KR (FFH=L& KR (75 % 7 -200 70%
7 400 | 66% |2t
7 700 | 66% |& 16,
7 700 | 66% |&t
7 200 | 64% |2:14.0
7 600 | 61% |2:17,000. £:11,800, B:16.100
7 300 | 61% [#:16.100, +:11,800, H:15,100
&% 7 800 | 68% |+:13900
7 400 | 64% |£+:13,900
7 700 | 63% |%+:14,300. H:14,000
7 100 | 62% |&+:15400
7 100 | 59% |%&+:15400
7 900 | 65% |%:16,400. E:13,900,
7 200 | 70% |%:16,100. £:11,800,
PNACIOE ) KR P % |_J 7 400 | 65% |%:13,000, £:139 12,
7 400 | 65% |%+:13,900, H:12.2
7 000 | 63% [#:13,900, +:13,500, H:14,000
7 200 | 59% 15300, +:
iR 7 ,300 59% :13,500
7 000 | 63% |%+:14,300, H:13,900
7 200 | 65% |%:14,800. H:13.900
7 ,200 65% :13,900, £:14.800,
KR (FFH) =K% KB (75 % 7 .300 57% 1:12,600, ,700
7 000 | 59% |#EH:12,100
7 300 | 57% |%:12,100. H:12.600
A5 7 .000 | 59% |H:11,200, £:12,100, £:11,700
7 800 | 51% 13,300
7 100 | 50% 12,600, £:11,200




55"/ EER(BA21~258BFS)

EEEAR : 2016/09/06

) 3/21-25

DS EE
B E5 | BAR
® | mwa [E 8 %

.800
.800 1
.700 4
.800 7
.700 58%
.300 59%
.300 59%
.200 63%
.200 63%
.600 58%
.400 55%
.400 55%
.400 55%
.400 55%
.400 55%
200 70%
.400 55%
.400 55%
.400 55%
.700 58%
.100 60%
.800
.800
.800
.800
.800
.800
.600
.600
.600

R CAB)=XR () | RRCHHE) %

KR (25 5 |_JL

£:10.900

:10.300. A:10.300. £:10.200
2K:10.300, £:10.100
:10.300. A:10.300. £:10.100
.700

.900
.900
.900
.300
.300
.700
.700
.200
.400
.200
.200
.900
.900
.900
.300
.300
.600
.200
.600
.900
.100
.400
.200
.200
.800
.600
.600
.200
.200
.200
.900
.200
.200
.200

RECRBE)=ALIR (3 Fi%)| RR(HE) & [ JL

7L (3 T B 3_JL500

500
000
600
000
000
000
700
600
000
000
600
600
400
700
700
700
400
400
400 | 65%
400 | 65%
800 | 61%
400 | 62%
800 | 66%
000 | _72%
000 | _72%
000 | _72%
700 | 66% 200, +:15,700

600 A:15,700, £:19,000, £:14,700
600
700
700
700
700 |66
000 | _72%
000 | _74%
800 | 75%
300 | 76%
300 | 76%
700 | 75%
.100 76%
,600 7 £:13,200, £:11,000
,600 7 £:13,200, £:11,000

AR CRE) =18/ FRCRE) % |_JL303

% | _JL300

R CRE) =R RRCPE)F | JL5S

100
.100, 12,300
1,100, £:12,300
£:12,000

TeNisE | _Jiss2

R CRE)=FEW RRECRE)# L231

o]

,800 7

,500 65%
,800 62%
.100
,500

1,300
4,200, £:11,300
1,300
1,500, £:11,300

FELFE L.

,700
,700
,200
,100
,500
,500
,500
,500
,500
,500
,500
,300
,300
,000

RR(RE)=-RIK R CRIE) % [ JL60S

R L606

,600
113,400, £:13,200

S|l s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s

:15,500
0% ,400, £:13,000




55"/ EER(BA21~258BFS)

EERAA - 2016/09/06
3/21-25
FH =x7E
=40} B2 | ma TS ER
® | mmEm |20
e EES
R (CRE) =R RERCPE) % .200 72% X
700 | 69% |k
700 |_66% _|k:
200 | 67% [k
200 | 67% [k
500 | 71% |k
500 | 69% |2
000 | 70% [k
A% 200 | 70% |2
700 | 66%
500 | 71%
300 | _74%
300 | _74%
000 |_70% [/
000 | 70% |2
7 500 | 71% |2
FR(CRE)=215 FRCRE)F | JL 7 .200
7 200
7 200 | 70% |k
7 300 |_74% |2
7 200 | 70% | k:13.
7 400 | 69% | X:13.800. 00. 00
EIE] 7 300 | _67% |13 400, %:14.000. E:14.700
7 200 | 70% | X:14.300, %:13.400 +:14.000
7 000 | 72% [k
7 500 | 71% |k
7 500 | 71% |2
7 000 | _68% |4
AR(PE-ERSE | AR (PER 7 000 | 74% |2
7 500 | 71% [k
7 800 | 70%
7 700 | 75%
7 700 | 75%
7 300 | 75% %
7 300 | 75% [k
7 300 | 75% [/
ERBR JL 7 200 7 E
JL 7 200 | 74% |4
JL 7 500 | 73% |2
JL 7 500 | 73% |/
7 800 | 72% |4
7 300 | 71% |4
[ 7 000 | _70% [/
L 7 000 | _72%
KR () =818 KB (FH % | J 7 .400 65%
7 400 | 65% |2
7 000 | 63% [2:13.900. :13.500
7 200 | 59% |2:15.300, £:13.000
FBR 7 300 | 59%
7 000 | 63% |2 F:14.300
7 200 | _65% 214800
7 200 | 65% | 2:14.800. £:11.700

JAL



55"/ EERGBA1T~20BBFES)

EEBEAB 2016/09/06
s 3/17 3/18 3/19 3/20
=R Ba | A [ZALSER]DLISEB DS RS DS %R
BB B B e e
HRCRBR)=XR () | RRCAE) R .800 300 |
.800 500
400 500
.200 500
600 500
600 500
700 500
.800
800
400
400
400
400
400
400
KB (FH $ | JL 7 .900
7 400
7 400
7 400
7 .700
7 700
7 800
7 800
7 .800
7 800
7 800
7 800
7 600
7 600
7 600
FR CRE)=4LIR (i Fi)| RRCHE) % |_JL 7 .200
7 .200
7 .200
7 .200
7 .200
7 .900
7 .900
7 .200
7 .200
7 200
7 .200
7 .200
7 .200
7 .200
7 .900
7 .900
7 400
#LO% (37 F#%) §__JL500 | 7 .800
["JLs02 | 7 700
[ JL504 | 7 800
[ JL506 | 7 .900
[ JL596 | 7 400
L508 | 7 700
L 7 700
L 7 100
L 7 300
L 7 800
L 7 800
[ JL520 | 7 500
[ 522 | 7 7.500
[ JL524 | 7 8.100
[ JL526 | 7 7.500
[ 528 | 7 .200
530 | 7 .200
FRCRE) =18 FRCRE)$|_JL303 | 7 .600
[ JL305 | 7 100
307 [ 7 800
309 [ 7 20.100
L311 |7 20.100
1313 | 7 9.000
L315 | 7 8.000
1317 |7 7.600
1319 |7 7.600
L321 |7 6,600
1323 |7 7,100
| JL325 |7 7.100
327 | 17 7,900
| JL329 [ 7 500
331 7 .300
| JL333 | 7 600
335 | 7 .500
FES 300 [ 7 000
[ JL302 | 7 000
304 |7 ,000
| JL306 | 7 500
L308 | 7 000
L. 7 700
L. 7 700
L. 7 700
L. 7 400
L. 7 500
L32f 7 ,500
[ U322 [ 7 500
324 | 7 20,000
| JL326 | 7 20,000
L328 | 7 20,100
1330 | 7 20,100
L33: 7 7.400
R CRE) =R RR(CRE) % |_JL55 7 .700
[ JLs53 | 7 200
| JL555 | 7 200
557 | 7 000
BIIF 552 | 7 ,800
| JL554 | 7 ,300
| JL556 | 7 400
558 | 7 ,400
RR(CRE)=K%9 RRCPE) $|_JL661 | 7 .100
| JL663 | 7 ,800
| JL665 | 7 ,300
| JL667 | 7 ,500
| JL669 | 7 ,500
671 7 ,300
Ko | JL662 | 7 ,400
| JL664 | 7 ,400
| JL668 | 7 ,300
670 | 7 ,300
672 | 7 ,000
674 | 7 ,000
RR(RE)=-RIK BRCRE) $|_JL605 | 7 .300
| JL607 | 7 ,800
[ JL609 | 7 ,700
L611 7 ,700
613 | 7 ,700
615 | 7 ,700
R [ _JL606 | 7 ,600
L608 | 7 ,600
Lf 7 ,600
Lf 7 ,500
Lf 7 ,500
Lf 7 ,400

JAL



EEEAR
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55"/ EERGBA1T~20BBFES)

=40]

FH
BAH
R

3/17

3/18

3/19

3/20

DILESER

DILESER

DILESER

DIVESER

ERE

ERE

ERE

R CRE)=MEX

R CRE) #

.800

.100

.200

.200

.300

.300

.300

.900
.900

.600

.600

.300

.700

.800

AR

.300

.800

.000

.500

.500

.200

.700

.700

R CRE) =58

R CRE) | JL

.800

.800

.000

.000

.800

.000

.500

.500

.800

.000

.000

.000

RR(PE)-ERS

R CRE) #

.800

.200

.900

.800

.800

.800

.800

.800

ERBR

.900

.400

.300

.200

.800

.300

.800

.200

KR (D =HlE

KR (R F | J

.600

.300

.400

.400

.400

.000

.100

.900

.500

.500

.400

.400

.400

.100

KR () =K

KR (£751) %

.200

.800

.800

EX

.800

.200

] Y Y Y Y Y Y Y Y Y Y Y Y Y Y )Y Y S )Y Y Y Y Y )Y Y ) Y ) Y Y Y] Y )Y ) Y Y Y Y ] ) Y Y )

.200

JAL



[R—/\—%BIEEFR(10A31H~11A6HEFERYVC

EEEAE 2016/9/6 ~
10/31 ] 111 [ 1172 1 1173 ] 11/4 ] 11/5 | 11/6
4 TP P (N RN DU DU D I
AR EG% | EE5E | EE4E | EE4E | EE4E | EE%E [ EES
a2l = s (IR E) FRES Nuo51 | 55887 | 9,400 | 9,400 | 9,400 | 17,200 | 12,800 | 14,100 [ 9,400

NU053 | 55H® | 15,300 | 17,200 | 11,600 | 17,200 | 15,300 | 17,800 [ 9,400
NU057 | 55H®I | 9,400 | 9,400 | 9,400 | 13,600 | 10,400 | 9,400 | 11,400
NU061 | 55H®I | 9,400 | 9,400 | 9,400 | 12,800 | 9,400 | 9,400 [ 9,400
NU063 | 55HH | 10,400 | 10,400 | 10,400 | 13,800 | 13,800 | 11,400 | 13,800
NU065 | 55H®I | 9,400 | 9,400 | 9,400 | 13,100 | 14,100 | 12,800 | 15,700

s (ARE) % [ Nuoso | 55H @I | 9,400 | 9,400 [ 9,400 | 15,800 | 9,400 | 9,400 | 9,400

NU052 | 55HR®] | 9,400 | 9,400 | 9,400 | 15,800 | 12,800 | 9,400 [ 9,400

NU054 | 55HH®] | 9,400 | 9,400 | 9,400 | 14,800 | 9,400 | 9,400 [ 9,400

NU058 | 55H®i [ 15,300 | 11,600 | 9,400 | 14,800 | 17,700 | 16,700 | 17,900

NU060 | 55H®I | 9,400 | 9,400 | 10,400 | 15,900 | 14,100 | 16,000 | 15,300

NU062 | 55H®I | 9,400 | 9,400 | 9,400 | 15,000 | 12,800 | 9,400 | 12,800

ZHE(hE) =+ (AFH) | 2HE(PEF)F | NU043 | 55HHT | 17,500 | 8,900 | 17,500 [ 20,300 | 8,900 | 8,900 | 17,100

NU045 | 55HHR [ 17,500 | 17,500 | 17,500 | 20,300 | 20,300 | 20,300 | 17,100

NU047 | 55H®I [ 9,900 | 9,900 | 9,900 | 16,000 | 10,500 | 10,500 | 11,000

NU049 | 55H®I [ 9,700 | 8,900 | 8,900 | 16,000 | 13,500 | 10,500 | 13,000

hEB(ARE) & | NUo42 | 558 @1 | 10,500 | 10,500 | 10,500 | 14,700 [ 11,000 | 10,500 | 16,000

NU044 | 55HHi [ 18,000 | 18,000 | 18,000 | 17,300 | 18,400 | 16,200 | 20,800

NU046 | 55H®I | 8900 | 8900 | 8900 | 16,700 | 13,000 | 12,500 [ 8,900

NU048 | 55HR] [ 8,900 | 8,900 | 8900 | 16,700 | 13,000 | 12,500 [ 8,900




11H7H~30H

JTA/RAC

EEEAR 2016/9/6

11/7-22 11/24-30 11/23]

XM EEH e | BEH i
B |% e BEE |z x % EE
] [EEES 70% | H:9,200, X:8,300. A:14.100, £ +:12,800 6.100 | 48% +:16.900. B:15.500 6.100
66% | H:16.100, 12,900, A:12.800. %:15,300. £:14.100. B:11.700 6,100 | 48% 6.100
63% | 3:9,200, 8,300, A%:10.400. £:9,400 0300 | 67% 0,300
70% | A X:8.300 00 | 73% 4,900 1300
70% |7kA:10.400. £:13.800, £:11,400, H:13,900 300 | 70% 500 300
73% |7k A:9.400. £:15.200, +:11.600. H:14.600 .300 73% 4,600 ,300
B (ARER) 70% | A X:8.300 ,300 73% .300
73% |7kA:9.400, %:14.100, £:10.400, H:12.900 00 73% 00
70% | A X:8.300 ,300 | 60% BEY ,300
66% | H:10.500, X:12,900, £:15.300. H:16.900 700 | 49% :16.901 .700
70% | :12,900. 7K:9,400. 7:10,400, £:15,300, +:15,000, H:14.200 800 | 55% £:15.000 ,800
70% | B X:8.300, H:11.700 800 | 55% :15,000, H:16.900 800
AHEE(PE) = (H) | BEE (PR 60% | :k:8.900, £:19,700, £ H:16.200 500 | 60% . B:17.100 500
60% |2 +:20.300, H:17.100 7500 | 6 :23.800. H:17.100 7,500
) 76% | A KIK:9,900 300 | 74 700, +:13,400 .300
U049 | 55E @I | 9.700 | 78% [XJK:8.900. £:13500, £:10.500, H:12.500 300 | 74 700, +:13,400. H:13.500 ,300
B (B8 & U042 | 55HFT | 10,500 | 76% |=£:11,000. H:11.700 ,300 | 74 .800. H:17.300 .300
U044 | 55E1 /i | 18,000 | 58% |%:18,400, £:16,200. H:20,800 ,000 | 58% 400, £:16,200. H:23.800 ,000
U046 | 55E/1 | 8900 | 79% [sKZAR+£:12500 300 | 69% ,800, H:22,600 500
U048 | 55E /T | 8900 | 79% [sKAFE:12500 300 | 69% 800, H:22,600 500




ML bS%%IEER(11H208~30 JTA/RAC
EEERAA 2016/9/6  ~
11/20-22 11/24-30 11/23
FH _— g

B B \mawm| mma | BEY = mag | H%A s EEE

128 = b #8 (AR ER) 1B F NUos1 [ 75 H | 9.100 71% | N:8,000 11,600 | 62% |[F:9,100, 7k H:8,000, £:14,100 8,000
Nuos3 | 75H Bif | 15400 | 67% |:A:12,800. H:11,600 10,400 | 66% |:AKA:12,800, £:16,100, £:14,100, H:8,000 10,400

NUos7 [ 75H R 11.100 | 64% |[H:9,100, X:8,000 10,000 | 68% |A:9,100. #:14,300, +:8,000 8,000

NUo61 | 75H il | 9,100 71% | B 8,000 8,000 74% 8,000

NU063 | 75H il | 9.000 71% | H:13,800 9,000 71% |#H:13,800 9,000

NU065 | 75H il | 8000 74% | H:13,900 8,000 74% |#:14,500, £:11,600. H:13,900 8,000

SPAB(BRE R | NUos0 | 75HFIT | 9.100 71% | B 8,000 8,000 74% 8,000

NU052 | 75H Bl | 8000 74% | H:12,800 8,000 74% 8,000

NUos4 | 75H il | 8,000 70% | H:9,100 8,000 74% 8,000

Nuos8 | 75H Bif [ 10400 | 67% |:A:12,800, H:16,100 12,800 | 59% |H:10,400. 7K:15,000, :9,100, £:14,100, £:8,000 [ 11,600

NUos0 | 75HFiT [ 9100 | 71% |:K:12,800, H:14.100 12,800 | 59% |FHA:10,400. £:15,300, +:8,000 9,100

NUo62 | 75H Bl | 8000 70% | H:11,600 8,000 74% |4:12,800, H:11,600 13,500

ZHE(PE) =48 AH) | 2HE (P K| NU043 | 758 FiI| 14900 | 66% | N:8,600, H:14,500 8,600 80% |:AoK:14,900 14,900
NU045 [ 75 FRiT[ 14900 | 66% |H:14,500 14,900 | 66% [&€+£:17,300, H:14,500 14,900

NU047 | 75H Bl | 9.800 77% | H:10,300 10,300 | 76% | A K 7K:9,900 9,900

NU049 | 75H il | 9.600 78% | :X:8,600, H:12,300 9,600 78% |47K:8,600, £:13,300, £:10,300, H:12,300 8,800

B (FEF [ NUo42 | 75H AT | 10300 | 76% | H:11,500 10,300 | 76% |#:10,800, H:14,500 10,300

Nuo44 | 758 FiT[ 15300 | 65% [H:17,700 15300 | 65% |%:15,600, £:13,800, H:19,700 15,300

NU046 | 75H il | 8600 80% 8,600 | 80% |H:16,200 8,600

NU048 | 75H Al | 8600 80% 8,600 | 80% |H:16,200 8,600




[2)Lb5%#E 13 12H1H~15H JTA/RAG
EEEAR 2016/9/6  ~
12/2-8 12/9-15 12/1
=) B8 |, T 0 E—oM ; E—oM ;

WAMR | EEHE| yax %5 BEE | aix 5 EBEE
LR NUos1 | 75 E Al | 8000 76% 1:9,800 8,000 76% F:13,800 11,600
NU053 | 75 HHif | 15400 54%  |7K:15,100, £:12,500, £:9,800, H:8,000 15,400 54%  |A:13,800, £:11,100, £:16,100, H:8,000 | 15400
NU057 | 75 E &il | 8.000 76%  |#£:13,800, +:12,500, H:10,000 8,000 76% | H:9,800 10,000

NUo61 | 75H &ij | 8.000 76% :14,300 8,000 76% :14,300 8,000

NU063 | 75 H @il [ 9.000 73% | %:14,300 9,000 73%  |#:14,300, B:12,100 9,000

NU065 | 75H &i | 8.000 76% 4:14,500, H:11,100 8,000 76% %:14,500, H:13,800 8,000

8 () % | Nuoso [ 75 B & | 8.000 76% 4,000 8,000 76% 8,000

NUos2 | 75H il | 8.000 76%  |%:9,800, +:12,500, H:14,100 8,000 76%  |£:15,100, £:12,500 8,000

NU054 | 75 E Aif | 8,000 76% | 11,100, £::9,800 8,000 76% 8,000

NUos8 | 75 H §if | 8,000 76% H:13,800, 7K:12,500. A:15,000, £:15,800, H:16,100[ 15,000 55% 7K:8,000, £:15,800, H:15,100 8,000

NU060 | 75 H Hil | 8.000 76%  [::9,800, £:13,800, H:16,100 8,000 76% | F:9,800, A:13,500, £ H:16,100 10,400

NUo62 | 75 H §if | 8,000 76%  |£:12,500, B:9,800 8,000 76% 8,000

B E (PER) =48 () | A& (PHER) 5| NU043 | 75 HiT | 14,900 67% :8,600, £1+:22,700, H:14,500 14,900 67% 7K:13,500, A:8,600, £:20,800, H:14,500] 14,900
NU045 | 75H &if [ 14.900 67% A:8,600, £ 1:22,700, H:14,500 14,900 67% 7K:13,500, AR #:8,600, 1:20,800, H:14,500( 14,900

NU047 | 75§l | 10,300 78% 5 :X:9,900, +:12,800 10,300 78% %7K:9,900 10,300

NUo49 | 75 H§if | 9.600 79% [ :X7k:8,600, £:13,300, +:12,800, H:12,300 9,600 79% | X7k:8,600, £:13,300, :10,300, H:12,300] 9,600

8 (RER) % | NUo42 | 75 B &if | 10,300 78%  |%:10,800, H:11,500 10,300 78%  |%:10,800, H:11,500 10,300

NU044 | 75H &if [ 15.300 67% 415,600, 1:13,800, H:22,700 15,300 67% 415,600, 1:13,800, H:17,700 15,300

NUo46 | 75 E &Il | 8.600 81% | H:21,500 8,600 81% 8,600

NU048 | 75H &if | 8.600 81% H:21,500 8,600 81% 8,600




YIS EBIEEXR(12A16H~28HKEES)

JTA/RAC

EE#EAH 2016/9/6 ~
12/16-21 12/22]12/23] 12/24]12/25] 12/26] 12/27] 12/28]
FHy .
F BE \mavm | mma | 500 = L e O e POy e e P Pl PO e P
12 = hiE GRE) 1ERE 5 Nuos1 | 758 @i | 8,000 76% 16,100 16,100 16,100] 14,800 17,700 | 19,000 21,200
NU053 | 75HHIT [ 8,000 76%  |%:15,100, H:14,800 16,100 16,100] 16,100{ 14,800 17,700 19,500 21,600
NU057 | 75HHIT | 8,000 76%  [%:11,100 10,000 | 12,900 12,900 14,000 | 14,000] 14,000 18,500
Nuoe1 | 75HHI [ 8000 76%  |%:14,300 8,000 | 12,900 12,900 14,200 11,200 11,200] 18,500
Nuoe3 | 75H @1 | 9,000 73% 9,000 | 12,900 12,900] 14,800 12,200] 17,700] 19,100
NUo65 | 75HHIT [ 8,000 76%  |%:14,500, H:11,100 8,000 | 13,100{ 13,100] 13,900 11,400] 17,700] 19,100
SR (FRE) F [ Nuoso | 75H T\ [ 8,000 76% 8,000 | 14,000| 14,000| 12,900 8,000 | 8,000 | 19,100
NU052 | 75E &l | 8.000 76%  |%:11,100 8,000 | 15,100{ 15,100] 14,100{ 8,000 | 8,000 | 18,700
NU054 | 75E &l | 8,000 76%  |%:14,000 12,000 | 14,000 14,000{ 12,900 11,200] 12,000{ 18,800
NU058 | 75E &l | 8,000 76% | 415000, £:15,800. 9,800 15,800 15,000] 15,000 16,100 17,700] 18,000 18,000
NU060 | 75H &l | 8,000 76% | 49,800, £ H:13,800 13,500 | 14,300/ 14,300 16,100 13,500 13,500 13,500
NU062 | 75E &Il | 8,000 76%  |%:11,100 13,500 | 14,300 14,300 16,100 13,500 13,500 13,500
ZEE(hE) = R8P | BT (PER)F | NU043 [ 75HFIT [ 8.600 81% £:13,500 14,900 22,700 | 22,700 17,300 17,300| 17,300 27,200
NU045 | 75E &l | 8600 81%  [%:12,800, £:13,500 14,900 | 22,700| 22,700 17,300 17,300] 17,300 27,200
NU047 [ 75H &I | 9.900 78%  |£1H:10,300 17,800 | 19,800 20,300 20,800 | 20,800 20,800 [ 27,200
NU049 [ 75H &Il | 8.600 81% | FH:9,600, £:13,300, £:10,300, H:12,300] 17,800 19,800] 20,300 | 20,800 | 20,800 26,900 27,200
B (BRE R | NUo42 [ 758 HI | 10300 78%  |£:11,500, H:10,800 15,300 15,300 16,800 16,500 | 15,800] 15,800 15,800
NU044 [ 75H & | 15.300 67%  |%:15600, £:13,800, H:17,700 15,300 13,800 17,700{ 22,700 15,300] 15,300 15,300
NU046 | 75E &Il | 8.600 81% H:13,500 8,600 | 8,600 | 17,700] 21,500] 8,600 | 8,600 | 8,600
NU048 | 75H &Il | 8.600 81% H:13,500 8,600 | 8,600 | 17,700] 21,500] 8,600 | 8,600 | 8,600




